UGC NET 2021 Social Medicine N Community Health

Topic:- SMCH_SHAAN_NOV21A

1) "Increasing sale of anti-asthamatics during the winter season is associated with increasing incidence of exacerbation of
asthma"

Which criteria of association is fullfilled by the above statement?

"oficaepret 3 canferielt carsii bl [ad) 3 gy @I Jder car gGol @ Al 3 dlol arcfl glg A 3 " IURID D6t A ARl DI Blol-AT ATUSS AT
A 3 ?

[Question ID = 609][Question Description = S2_qSNz_PG_SMC_QO01]

1. Temporal association/wiferes Jmaert [Option ID = 2433]

2. Biological plausibility/siferas faeaziefierar [Option ID = 2434]

3. Consistency of association/rsart &t Jersen [Option ID = 2435]

4. Coherence of association /el &t Rrear [Option ID = 2436]

Correct Answer :-
e Temporal association/wifers maart [Option ID = 2433]

2) Health awareness survey was planned in a community with a sample size of 10% of the town population.
The list of households from each subgroup was prepared, 10% of households from each sub group was selected.

Name the above mentioned sampling method.

AAGRI I FARLA SIPRedI Ad 801 b Astoll IS 31 BR1 gfercol s - 9162 &l SR @I 10 % o1 &2 JuzEg 4 A 10 % uf¥ar] o1
<RI6l P SR IURKD Yfercol spgur Yutredl 1 ol adrd

[Question ID = 610][Question Description = S2_qSNz_PG_SMC_Q02]
1. Simple random sampling/3ret =mefRe® [Option ID = 2437]

2. Systematic random sampling/=mazemsra aefesa [Option ID = 2438]

3. Stratified random sampling/¥af¥a arefes® [Option ID = 2439]

4. Cluster sampling/33g yfercof spgur [Option ID = 2440]

Correct Answer :-
e Simple random sampling/3ret =refesa [Option ID = 2437]

3) An investigator wanted to estimate the mean Hb level in antenatal mothers in a tribal area. A previous study reported
mean Hb as 10 gm%, SD 2 gm%. The expected difference between population and sample mean is considered to be 1 gm%.

The nearest approximate sample size would be

U YD SlotSIIcilRI gl 3 yragd rarsii 3 e Hb Far oT 3nasetol @ aradr & forovet siezrrer # smear Hb 10 gm % siiz SD 2 sw1 % urn
SRIT oI SIGIAST AL 312 gfergel smer o diar yeanfdrd siaz 1 gm % Hioll sRI &

formeasn Afsorme yfercef 3R dlon

[Question ID = 611][Question Description = S2_qSNz_PG_SMC_QO03]
1. 200

[Option ID = 2441]
2. 300

[Option ID = 2442]
3. 400

[Option ID = 2443]
4. 500

[Option ID = 2444]

Correct Answer :-
e 200

[Option ID = 2441]

4) Ecological study is also known as:

arfsf¥-erfera sieerRIol @I 3z 3T 31¢RIo @ ol A SITGl SIIdT & ?
[Question ID = 612][Question Description = S2_qSNz_PG_SMC_Q04]



Prevalance study/muddr sierral [Option ID = 2445]
Correlational study/s3isdt sieerior [Option ID = 2446]
Case reference study/@1 icsf sirrel [Option ID = 2447]
Followup study/ sigpmeft siezrier [Option ID = 2448]

A W N -

Correct Answer :-
® Prevalance study/=mudd sieeriel [Option ID = 2445]

5) Which one of the following variables is classified as dichotomous?

forgotfeii¥aa 3 A ®lol - AT @R fGHcl & Hu I asfiada fear sirer 8 ?

[Question ID = 613][Question Description = S2_qSNz_PG_SMC_QO05]
Age/amg [Option ID = 2449]

Sex/Rist [Option ID = 2450]

Height/e@ar$ [Option ID = 2451]

Weight /aster [Option ID = 2452]

A W N -

Correct Answer :-
e Age/amg [Option ID = 2449]

6) Which one of the following information is required in calculating the Secondary Attack Rate?

iR yar g2 6 sl ol @ fore foweifeiRan 3t A ®ier -2t Sierert & smragadwar ekl 3 ?

[Question ID = 614][Question Description = S2_qSNz_PG_SMC_QO06]
Minimum Incubation period/s¥eidet 3gdet @ret [Option ID = 2453]

Maximum Incubation period/siféidas 3gaet wict [Option ID = 2454]

Median Incubation period/amfeerst 3gaet @ret [Option ID = 2455]

Mean Incubation period/smne 3gast @iet [Option ID = 2456]

AW N =

Correct Answer :-

e Minimum Incubation period/eidat 3gast @ict [Option ID = 2453]

7) Apperance of Herpes zoster in a person who was earlier infected with Varicella zoster (V2) virus, is which one of the
following types of infection?

gl A df¥Rien sire: (VZ) Ry A AwfiEa caftp d sdfst siike: @I yae slon foaifeiRaa 3 31 el yor @1 Jiadur 8 ?

[Question ID = 615][Question Description = S2_qSNz_PG_SMC_QO07]
Subclinical Infection/3usicifor® Jiagiur [Option ID = 2457]

Re Infection/get:3iggtur [Option ID = 2458]

Latent infection/spa gt [Option ID = 2459]

Clinical Infection/sterferss it [Option ID = 2460]

A W N -

Correct Answer :-
e Subclinical Infection/3usterfore gt [Option ID = 2457]

8) In which one of the following vaccines, an inactivated or killed agent is used for active immunization?

forraferRaa & A v > A Afdga yfersliaur & ferw forftaa fpe s1e @ gpa sifdrasat @1 gRier fapen sirar 3 ?
[Question ID = 616][Question Description = S2_qSNz_PG_SMC_QO08]

1. BCG/dft 3t sit [Option ID = 2461]

2. Diptheria/3ifavft wo3er (sremic) [Option ID = 2462]
3. Measles/zw=mwr [Option ID = 2463]

4. Pertussis/@gmadii (adRrI) [Option ID = 2464]

Correct Answer :-
o BCG/dl 2ft sft [Option ID = 2461]

9) Which one of the following is a causative agent of the transmission of Yaws?

forgotferRac 3 A Dol Uit D YAR DI BRD 3ifdrwdf 3 :

[Question ID = 617][Question Description = S2_qSNz_PG_SMC_Q09]
Treponema pallidum/Zueitan GferfS=re [Option ID = 2465]

Treponema carateum/uofian et [Option ID = 2466]

Treponema pertenue/<uisfien uészy [Option ID = 2467]

Haemophilus ducreyi/gstiftierar s@I[Option ID = 2468]

A W N -

Correct Answer :-
® Treponema pallidum/Zuteftan GfrfSzrer [Option ID = 2465]



10) The method for identifying a missing case and thereby supplementing the notified cases is known as

eIaedr AFIcl bl Usdrel ol bl fafer sz 3 Ader 3 siffRIfRa simerell @) AYf¥a ol 331 BU 3 Sil6l SIidr 3

[Question ID = 618][Question Description = S2_qSNz_PG_SMC_Q10]
1. Active surveillance/ask foerisft [Option ID = 2469]

2. Sentinel surveillance/ys$t (3fesrer) forrsh [Option ID = 2470]

3. Notification/asiférzaen [Option ID = 2471]

4. Lay reporting/3marur Ruld gorr (aifuifésr) [Option ID = 2472]

Correct Answer :-
e Active surveillance/zagR foermoft [Option ID = 2469]

11) Vaccination against which disease is required under International Health Regulations?

siRicdlRr Farre faformeror o siasia fopa dlenst & i 3 Sara2ur smavaw® 3 :

[Question ID = 619][Question Description = S2_qSNz_PG_SMC_Q11]
1. Tuberculosis/grR¥st [Option ID = 2473]

2. Yellow fever/dia saz [Option ID = 2474]

3. Poliomyelitis/uifernt [Option ID = 2475]

4. Measles/xw=rr [Option ID = 2476]

Correct Answer :-
e Tuberculosis/grrRIr [Option ID = 2473]

12) How many Sustainable Development Goals are there in the 2030 Agenda?
2030 uaisr 3 fbdor Jad bR cgAl o 31 sRI 37

[Question ID = 620][Question Description = S2_qSNz_PG_SMC_Q12]
1. 8

[Option ID = 2477]
2. 17

[Option ID = 2478]
3. 20

[Option ID = 2479]
4. 30

[Option ID = 2480]

Correct Answer :-
e 3

[Option ID = 2477]

13) Which of the following statements are true with respect to Health Education?
A. Makes people think for themselves

B. Appeals to reason

C. Appeals to emotion

D. Aims at impulsive action

Choose the correct answer from the options given below:

Farrey foren & arR 3 AT Bt B -

A. clivll @I Fo=i @ fore Aol 3q Yia ool

B. @ @01 @ 3rgRlel ol

C. srdoll @ ferQ srelRler wol

D. smafdra wriarél @ 3gea Sro

il fou s1e fraseul 9 2 W& Ia= goi ¢

[Question ID = 621][Question Description = S2_qSNz_PG_SMC_Q13]

A and B only/dqet A siiz B [Option ID = 2481]

B and C only/@aet B siiz C [Option ID = 2482]
C and D only/dsaet C siiz D [Option ID = 2483]
A and D only/dbaet A siiz D [Option ID = 2484]

A W N -

Correct Answer :-



® A and B only/@aet A siiz B [Option ID = 2481]

14) Which one of the following facilities has a blood storage unit?

forgatferRaa 3t 3 b2 Ffdem 3 oo sisRUT sI$ Bkl 3 ?

[Question ID = 622][Question Description = S2_qSNz_PG_SMC_Q14]
Subcentre/3udg [Option ID = 2485]

Primary Health Centre/qreifd Jares dg [Option ID = 2486]

24/7 Primary Health Centre/24/ 7 greifdres Farzesr ag [Option ID = 2487]

First Referral Unit/gemr wmemel so [Option ID = 2488]

A wWw N -

Correct Answer :-
® Subcentre/3uag [Option ID = 2485]

15) Which one of the following indices does NOT take into account height for assessment of obesity?

forgarferRaa 3 A Pl - AT JADicPd Alel > 3MIDclol 3 cidrs bl 3IUTG ofdl w2 3 ?

[Question ID = 623][Question Description = S2_qSNz_PG_SMC_Q15]
Body Mass Index/ 9Btz gemirer Japicp (dist et s3a=1) [Option ID = 2489]

Ponderal Index/sm= Jaaia [Option ID = 2490]

Corpulence Index/dcrdet Jamic [Option ID = 2491]

Lorentz Formula/eif¥sa1 3 [Option ID = 2492]

AW N =

Correct Answer :-
e Body Mass Index/9r guirel Jadwpic (dfst it s5a=1) [Option ID = 2489]

16) Which one of the following historically gave first link of exposure with occupational cancer?

forraiferRaa 3 A fprRY smshifaeet s SR Yenfada dlet & uscht &St gra g8 ?
[Question ID = 624][Question Description = S2_qSNz_PG_SMC_Q16]

Skin Cancer/caar @z [Option ID = 2493]

Lung Cancer/®ws @1 @2 [Option ID = 2494]

Blood Cancer/3® @z [Option ID = 2496]

Scrotal Cancer/sis® (Iqicer) D= [Option ID = 2495]

A w N =

Correct Answer :-
e Skin Cancer/cqar @z [Option ID = 2493]

17) Which one of the following is the best strategy for prevention and control of Tuberculosis in the community?

TSI 3 SRIRIPT @ Aprd 3= foriqur & fere foafciRaa 3t blot it v Frdfaer vl 8 ?

[Question ID = 625][Question Description = S2_qSNz_PG_SMC_Q17]
1. Isolation of case/3ft @i sieter 2xam [Option ID = 2497]

2. Diagnosis and Treatment of case/3wft @1 foreror 3iiz 3uar [Option ID = 2498]

3. BCG Vaccination/dt 2t Sit @izt [Option ID = 2499]

4. Chemoprophylaxis/32rrer 31 forterer (Blagiblafe) [Option ID = 2500]

Correct Answer :-
e |[solation of case/Jwsft @ sicter 2xam [Option ID = 2497]

18) In which one of the following infectious diseases rash is pleomorphic?

forgoiferRaa 3 31 Dl 2l v IMEID AT addl fTeril - miae (KerHRbD) 3 ?
[Question ID = 626][Question Description = S2_qSNz_PG_SMC_Q18]

1. Chicken pox/@ictamar [Option ID = 2501]
2. Small pox/aa [Option ID = 2502]

3. Measles/zw=wr [Option ID = 2503]

4. Rubella/=den [Option ID = 2504]

Correct Answer :-
e Chicken pox/=darar [Option ID = 2501]

19) When optimum radiographic techniques are employed, the skin dose from a single x-ray film varies, approximately,

SId stcadl A Iiftbd dmolicl BT GRIPT o1 ST 3, dl b Uaa 3 fiscat A caan ol frcrol arct sy ceneT b ufir 3 ardt 3 ?



[Question ID = 627][Question Description = S2_qSNz_PG_SMC_Q19]
1. 0.08 to 5.0 rad/0.08 31 5.0 35 [Option ID = 2505]
2. 0.01 to 2.0 rad/0.01 312.0 3s [Option ID = 2506]
3. 0.02 to 3.0 rad/0.02 31 3.0 3s [Option ID = 2507]
4. 0.05 to 6.0 rad/0.05 31 6.0 35 [Option ID = 2508]

Correct Answer :-
e (.08 to 5.0 rad/0.08 & 5.0 3s [Option ID = 2505]

20) The high temperature Kata thermometer can be distinguished by coloured alcohol.

I AIUATel dicil IeT drgadl o 331 @D Qcblad A UGdIoll ST ADT &

[Question ID = 628][Question Description = S2_qSNz_PG_SMC_Q20]
1. Red/cma

[Option ID = 2509]
2. Blue/dler

[Option ID = 2510]
3. Magenta/dsier

[Option ID = 2511]
4. Green/sx

[Option ID = 2512]

Correct Answer :-
® Red/ecmer

[Option ID = 2509]

21) The minimum recommended distance of cattle sheds from dwelling houses in rural area is:

SqretivT iy 3 forarT el A ugrorreirsii bl RyeIad 3rolil3ie gdl 3 :

[Question ID = 629][Question Description = S2_qSNz_PG_SMC_Q21]
20 feet/20 Gl [Option ID = 2513]
25 feet/25 ®lc [Option ID = 2514]
30 feet/30 @ie [Option ID = 2515]
35 feet/35 dic [Option ID = 2516]

AW N =

Correct Answer :-
e 20 feet/20 %l [Option ID = 2513]

22) Which of the following arthropods is responsible for transmission of Rickettsialpox?

forrarferRaa & A ®lal -1 JAferare Pdiderier diqer @ QIR @ fere IRl slar 3 ?

[Question ID = 630][Question Description = S2_qSNz_PG_SMC_Q22]
Reduviid bug/3sfds e [Option ID = 2517]

Louse/Sf [Option ID = 2518]

Trombiculid Mite/3ifdaagfers @bt (amse) [Option ID = 2519]

Rat flea/ggr fieeg [Option ID = 2520]

A W N -

Correct Answer :-
® Reduviid bug/3sfas bie [Option ID = 2517]

23) Which of the following conditions correctly describe the declining stage of the demographic cycle?

SIctifépebr aay bt Bredl g3 srazen o1 foorfeilRaa 3 3 wlor 2 con &Y Go1 A quier ol 3 ?

[Question ID = 631][Question Description = S2_qSNz_PG_SMC_Q23]

1. Death Rate is decreasing while Birth Rate remains unchanged/#] &2 ac 38 & Safdp Steut o2 sufafefa & [Option ID = 2521]

2. Birth Rate is decreasing while Death Rate remains unchanged/sieat G2 ac 3@t 3 Safds #ye2 swf¥afeia & [Option ID = 2522]

3. Both Birth Rate and Death Rate are decreasing and Death Rate is lower than the Birth Rate/goil Stoat G2 3l 3 52 @c &t 8 3l 3y &2, Sodt G2 bl 3iem
@a a [Option ID = 2523]

4. Both Birth Rate and Death Rate are decreasing and Birth Rate is lower than the Death Rate/gIsil Soatc? 3z 3Iyc? ac 38 & 3l Sioat o2 Pl e ot a
[Option ID = 2524]

Correct Answer :-
e Death Rate is decreasing while Birth Rate remains unchanged/sg g2 ac ¥ 8 Safes Sedt 52 smf¥afefa &t [Option ID = 2521]

24) The number of minimum antenatal visits recommended by the World Health Organization (WHO) is:

e Farre FeI66l (Soc’, ud 3il) ERI oJoiddd fpdel aR Yid yd Rifdsrra @ urt Siol &l dcirs & sril 37



[Question ID = 632][Question Description = S2_qSNz_PG_SMC_Q24]
1. 4
[Option ID = 2525]
2. 6
[Option ID = 2526]
3. 8

[Option ID = 2527]
4. 10

[Option ID = 2528]

Correct Answer :-
e 4

[Option ID = 2525]
25) In copper T 380, 380 indicates:
@iuz & 380 3, 380 fram: AdADB 3 ©

[Question ID = 633][Question Description = S2_qSNz_PG_SMC_Q25]

. Weight of the copper/aid @1 astat [Option ID = 2529]

Length of the copper wire/amd @ ar &l ciars [Option ID = 2530]

Surface area of the copper wire/did @ ar @1 s 81, [Option ID = 2531]

Cross sectional area of the copper wire/did @ ar @1 yferforeancad & [Option ID = 2532]

A W N -

Correct Answer :-
® Weight of the copper/aid @i astar [Option ID = 2529]

26) The best indicator reflecting chronic malnutrition is:

Sefpifers @UINvI I gorfal 3¢ Sil Adiad ADad 3 :

[Question ID = 634][Question Description = S2_qSNz_PG_SMC_Q26]
Weight for Height/ciaré @ sioRiR aster [Option ID = 2533]

Weight for Age/3iR] @ soRIR astot [Option ID = 2534]

Height for Age/smg & 3iGRIR cers [Option ID = 2535]

Mid-arm circumference/dfs @ aie=r &1 ulfer [Option ID = 2536]

A w N =

Correct Answer :-
e Weight for Height/clar$ @ soRIr astet [Option ID = 2533]

27) The APGAR Score of a newborn baby with blue extremities, pink body, slow irregular respiration, active movement of
extremities, 95 heart rate and grimace reflex response is:

St offel a1er tfa UReq 9R1R Ifendll, efiam, siforifda a1 arer - Uiq - acIREIG gea &l sifer 95 3iik Fpa st (BRI Rucasre) 3t dl 33 sasia
foreg @1 u i Sl w sz gyeieT oI

[Question ID = 635][Question Description = S2_qSNz_PG_SMC_Q27]
1. 4

[Option ID = 2537]
2.5

[Option ID = 2538]
3.6

[Option ID = 2539]
4.7

[Option ID = 2540]
Correct Answer :-
e 4

[Option ID = 2537]

28) An XYZ village has a population of 10,000, with birth rate of 40 per 1000 population in a year 1995. There were 2
maternal deaths in the same year in the village. Calculate the maternal mortality ratio (per 1 lakh live birth) of this village.

10,000 b} srardt arer fp=il aifa 3 S1ai @I Stodt g2 ad 1995 3 40 gfer &oIR SRR 3 a8l 2 Siolell Bl P §F $7 LR UR A 31 DI Sloloil
Feg rofurd (Yfer v oira f919] Slodt @ srojurd ) foreatferRaa 3 A a=r dom?

[Question ID = 636][Question Description = S2_qSNz_PG_SMC_Q28]
1. 100

[Option ID = 2541]
2. 300

[Option ID = 2542]
3. 500



[Option ID = 2543]
4. 700

[Option ID = 2544]

Correct Answer :-
e 100
[Option ID = 2541]

29) Two consecutive survey teams studied quality of life of a population at an interval of one month, using same tool.
Results were observed to be similar. It can be interpreted that indicator used is

Sl IIPIA AL SIVT Gell A TP Sl IUDT YAIBT Dl U U Hdlol D 3icRIcl U= [pil STorRizsan @ Siidet &l Surardr oI 3ieRIal fpem  ggrot 3
qf¥vIet AAIGI UIT 318 MR dAICuR] formIetl Sl Amdl 8 b ggep ADa® 3 :

[Question ID = 637][Question Description = S2_qSNz_PG_SMC_Q29]
. Valid/&e [Option ID = 2545]

. Reliable/Re=amfkr [Option ID = 2546]

. Sensitive/3idee [Option ID = 2547]

. Specific/fafSme [Option ID = 2548]

A w N =

Correct Answer :-
e Valid/da [Option ID = 2545]

30) The first Indian state to introduce Panchayati Raj is

GaRIARIST SIazer &l 9[F3IId ol arell YId HIRCARI IS 3 ?

[Question ID = 638][Question Description = S2_qSNz_PG_SMC_Q30]
. Rajasthan/zmemat [Option ID = 2549]

. West Bengal/uf¥sar dsmrer [Option ID = 2550]

. Tamil Nadu/afdeteng [Option ID = 2551]

. Kerala/@zet [Option ID = 2552]

A WN -

Correct Answer :-
® Rajasthan/zmremer [Option ID = 2549]

31) The most common disease screening test, used in the early 20" century happened to be:

20 & 1t & gry I Aaiferes gRIeT Bt Siel arcll 0T Sierdlel Sifa (Fajifeist 23¢) Xl oft

[Question ID = 639][Question Description = S2_qSNz_PG_SMC_Q31]

Blood smear for malaria parasite/scif3n ussfidt @ fére 3 o (F9rR) [Option ID = 2553]

Clinical examination for leprosy/@ee @ fdbu dlaifors wtemr [Option ID = 2554]

Serological blood test for syphilis/Rifibferar @ fére fear dsuferas xb Sifa [Option ID = 2555]

Smear staining for plague bacilli/wier @ Sflamsii @ fére cu sifdRstor (IRR cfoisr) [Option ID = 2556]

A W N -

Correct Answer :-
e Blood smear for malaria parasite/#cifar uwsildt @ e ¥ e (IrR) [Option ID = 2553]

32) Amongst the speicific protective measures mentioned below, the most recent is

forgstifepa fafdrse zgicares SUril 3 I 3IeT BI SUR 8 ©
[Question ID = 640][Question Description = S2_qSNz_PG_SMC_Q32]
1. Small pox vaccination/das dmrrmur

[Option ID = 2557]
2. Use of Diptheria antitoxin/fSuefifsan ftwiRe @1 gailst

[Option ID = 2558]
3. Vitamin C for Scurvy/od & fere ferfier - ft

[Option ID = 2559]
4. Protection from mosquito bite against Malaria/#ci=n @ fd.g #ce: D Dicol A JBI

[Option ID = 2560]

Correct Answer :-

e Small pox vaccination/da® daramun
[Option ID = 2557]

33) The ancient medical system that is considered as an early pioneer of immunisation is



greflor frféseant gunedl 121 drasut @1 3nfe gade a6t sirar 8 :

[Question ID = 641][Question Description = S2_qSNz_PG_SMC_Q33]

1. Roman/3etar [Option ID = 2561]

2. Indian/emil [Option ID = 2562]
3. Chinese/dsft [Option ID = 2563]
4. Greek/Jersft [Option ID = 2564]

Correct Answer :-
® Roman/3aer [Option ID = 2561]

34) Facility integrated ICTC is present in

Afaen Adfeoa s Al & Al foraricRaa 3 A v Sufyera 3 ?

[Question ID = 642][Question Description = S2_qSNz_PG_SMC_Q34]
1. Medical colleges/fifesean sraifdemcrr

[Option ID = 2565]
2. Subdistrict hospitals/3u fStemr sudrer

[Option ID = 2566]
3. CHCs (block level)/3ft va 2t (yis 3R)

[Option ID = 2567]
4. Below Block level/yxis 312 3 ofid

[Option ID = 2568]

Correct Answer :-

e Medical colleges/Rifepean sraifdencrn
[Option ID = 2565]

35) According to Maslow's hierarchy of needs, the lowest amongst the following is the need for sense of:

AR D AMAADBAI ATl D IGRIR, forerferRaa 3 3 b1 siraenr 6 sragIasdr A off) aleft 3 ?
[Question ID = 643][Question Description = S2_qSNz_PG_SMC_Q35]

. Belongingness/ackima (fetifiorR:) [Option ID = 2569]

. Appreciation/yein (3ifgfesrer) [Option ID = 2570]

. Responsibility/eiRica (Reuif¥faferct) [Option ID = 2571]

. Job satisfaction/®rf igfte (Sifq Afedasrer) [Option ID = 2572]

A W N -

Correct Answer :-
e Belongingness/adkica (facifSisrori) [Option ID = 2569]

36) Which one of the following statements about motivation is true for most people?

3iferepior cafepeal @ ferg ifsgzur o Jder 3 fowoifciRaa 3t 2 diel - AT DersT T8 8 ?

[Question ID = 644][Question Description = S2_qSNz_PG_SMC_Q36]

1. Like to succeed/zmwet aletr arsont [Option ID = 2573]
2. Do not scarifice for self-development/¥q fa@rI @ fee eI o1& won [Option ID = 2574]

3. Fear decision making/fswfer @zor 3 srr a2arr [Option ID = 2575]
4. Fear responsibility/3azciRrca clot 3 81 e [Option ID = 2576]

Correct Answer :-
® |ike to succeed/3mwpet glon arson [Option ID = 2573]

37) False perception is known as

f3rean sradliersT waardn 3 :

[Question ID = 645][Question Description = S2_qSNz_PG_SMC_Q37]
1. Illusion/enfoa (sexsiol) [Option ID = 2577]

2. Imperception/smeeyfergieRran (seruRreret) [Option ID = 2578]

3. Delusion/s@rRifep (Sc=ystol) [Option ID = 2579]

4. Hallucination/#ferspr (scyfRmotee) [Option ID = 2580]

Correct Answer :-
e |llusion/epfea (segston) [Option ID = 2577]

38) An office employee without ‘face mask’ gave reason for non use as, "l was just going to wear it." This is an example of



DRIfcRI 3 bl watardt of B AR 18] TP Silel BT BRUT $AH YdbR JdRI :
"3 3mefl 0 creIIG &l I BT e AIE Pt 3BT 3 ?
[Question ID = 646][Question Description = S2_qSNz_PG_SMC_Q38]

Rationalisation/ziifepdblaprRur (3ereretssiorior) [Option ID = 2581]
Projection/ugmra (giaeret) [Option ID = 2582]
Displacement/fzemuert (f33wcriic) [Option ID = 2583]
Regression/yfesmior (f¥3)erer) [Option ID = 2584]

A w N =

Correct Answer :-
e Rationalisation/:iifepbimrur (Iewrcmssiont) [Option ID = 2581]

39) Cost per Quality Adjusted Life Year gained is calculated in

grd yfer SJuradl AARITI Sfiael ad @ fére a1 & s1vren fepa 3 & siedl 3 ?

[Question ID = 647][Question Description = S2_qSNz_PG_SMC_Q39]
1. Cost minimization analysis /P segiasraur farawur [Option ID = 2585]

2. Cost effectiveness analysis/cmsrd ganfaar faesa3wur [Option ID = 2586]

3. Cost utility analysis/ecmra 3uwifdr feawor [Option ID = 2587]

4. Cost benefit analysis/cmerd cmer fecdwor [Option ID = 2588]

Correct Answer :-
e Cost minimization analysis/cIeI ferdarasvr faecswor [Option ID = 2585]

40) The most appropriate analysis to compare two interventions, where the more effective one is also costlier, is

0=t Rearfer o1, s/ 3l sFasiul &t gerelt @ A 3ifers garrdt sragia sifres sr@on oft 3 ; Jaifers Sug frayur 3 ¢
[Question ID = 648][Question Description = S2_qSNz_PG_SMC_Q40]

1. Cost benefit analysis/cmerd et fecdwor [Option ID = 2589]

2. Cost minimisation analyisis/eeIA sJoldem2ul f[aea3wur [Option ID = 2590]

3. Incremental cost effectiveness ratio/atfsrer emora ggnfdar sgqura [Option ID = 2591]
4. Marginal cost/3flsrea emera [Option ID = 2592]

Correct Answer :-
e Cost benefit analysis/cteIa cmst fascswur [Option ID = 2589]

41) Which of the following species of Anopheles are commonly found in foot-hills regions?
A. An. sundaicus

B. An. culicifacies

C. An. fluviatilis

D. An. minimus

Choose the correct answer from the options given below:

forgotferRaa 3f 3 Pl - 2l Voiifsferar 6t sufer Bivurg §iql 3 AweIeIa: urd sl 3 ?
A. Y. dssoAa

B. o1 agfifrifist

C. Yot wfedifeferar

D. Yot frforert

oA Ry a1e Riecdl # A & a2 o ¢

[Question ID = 649][Question Description = S2_qSNz_PG_SMC_Q41]

1. Aand B only/d>act A siiz B [Option ID = 2593]
2. B and C only/@aet B siiz C [Option ID = 2594]
3. Cand D only/a@ae C siiz D [Option ID = 2595]
4. Aand D only/aact A siiz D [Option ID = 2596]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 2593]

42) Which of the following diseases are transmitted by louse?
A. Epidemic Typhus

B. Oraya fever



C. Trench fever
D. Endemic Typhus

Choose the correct answer from the options given below:

forgatferRaa 31 3 Blat -1 AT I gRI gerifea arar 3 ?

A. oftRii® cswa

B. sikrm gER

C. ta gmr

D. ufosfire cswa

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 650][Question Description = S2_qSNz_PG_SMC_Q42]

A and B only/dqet A siiz B [Option ID = 2597]
A and C only/daet A siiz C [Option ID = 2598]
A and D only/d@aet A siiz D [Option ID = 2599]
B and D only/@aet B siiz D [Option ID = 2600]

A W N -

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 2597]

43) Which of the following are the characteristics of a sandfly?
A. Lanceolate shaped wings.

B. Legs are shorter compared to the body size.

C. Slightly bigger than a mosquito.

D. Does not fly by choice.

Choose the correct answer from the options given below:

forgotferRaa 3 A wiot 2t wHAldID (Fswars) b fadraam 3 ?

A. dccid - ol (cifelR131AIc) 3Bz & Uz BXd 3

B. srchl cidt 981k @ bR & deterr 3 DI BXcdl &

C. a8 I A A a1 axclt 3

D. srueil sTart A odl It

il 3w a1 fyaseul 9 A &) 3R goi ¢

[Question ID = 651][Question Description = S2_qSNz_PG_SMC_Q43]

1. Aand B only/dact A siiz B [Option ID = 2601]
2. Band C only/dsaet B siiz C [Option ID = 2602]
3. Cand D only/a@aet C 3iiz D [Option ID = 2603]
4. Aand D only/a@act A siz D [Option ID = 2604]

Correct Answer :-
e A and B only/dbaer A siiz B [Option ID = 2601]

44) Pasteurization of milk will not be able to kill
A. Tubercle bacilli

B. Q fever organism

C. Thermoduric bacteria

D. Bacterial spore

Choose the correct answer from the options given below:

GEI @5 UIRRSI0T A TRIT oftC o1dl &l urr & ?
A. e dfdfer

B. oy blaz seifersa

C. emitgyiy® dadfewn

D. Sadfwrea ¥ar



il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 652][Question Description = S2_qSNz_PG_SMC_Q44]
A and B only/daet A 3iiz B [Option ID = 2605]

B and C only/a@dact B sfiz C [Option ID = 2606]

C and D only/aaet C siiz D [Option ID = 2607]
A and D only/@acr A siiz D [Option ID = 2608]

A W N -

Correct Answer :-
® A and B only/@aet A siiz B [Option ID = 2605]

45) Which of the following criteria suggest a diagnosis of Severe Acute Malnutrition (SAM)?
A. Very low weight for age

B. 2 score below 2-SD of the median WHO child growth standards

C. A mid-upper arm circumference < 115 mm

D. Presence of nutritional oedema

Choose the correct answer from the options given below:

forgatferRaa 3 3 Plat shfik yds GUIHLT (31[) D c1gd D AGIES 3 ¢

A. 3 D zfcplvr A I5d DA aSIol

B. snftaept sec3y wa 3l diel AP RT Aol @ 2 - HAlold forcel A 2 3 oo
C. Rt @1z - Hudl dic 6 ulfd (Brs - s smef APaw ) < 115 mm
D. diufdre ofw (sf3am) &t sufefer

ofid fou o1 el 3 1 A8t STz gt ¢

[Question ID = 653][Question Description = S2_qSNz_PG_SMC_Q45]

A and B only/d>qet A siiz B [Option ID = 2609]
B and C only/@aet B siiz C [Option ID = 2610]
C and D only/aaet C sfiiz D [Option ID = 2611]
A and D only/daet A siiz D [Option ID = 2612]

A wWw N -

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 2609]

46) Which of the following are correct criteria for Reference Indian adult man?
A. Engaged in 8 hours of occupation which involved moderate activity

B. Weighs 60 kg

C. Height of 1.8 metre

D. Aged between 21-30 years

Choose the correct answer from the options given below:

forgotferfiaa 3 A o= oI HRA & IGIA WD g B e I A FARISs
A. 3ol 33 ¢if) 9 8 EHe DRI I PN ol BRI ARIeA BRIvAT B 3

B. astor 60 kg

C. @g &l Harg 1.8 ez

D. 21 31 30 ad @& i

o Re a1e Riescdl 3 2 & a2 9ol ©

[Question ID = 654][Question Description = S2_qSNz_PG_SMC_Q46]

A and B only/dact A siiz B [Option ID = 2613]
B and C only/dbaet B siiz C [Option ID = 2614]
C and D only/@aet C siiz D [Option ID = 2615]
A and D only/d@aet A siiz D [Option ID = 2616]

AW N =

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 2613]

47) Which of the following are correct general recommendations during disaster management?

A. Calculating daily food rations



B. Intensify vector control activities
C. Mass vaccination of population against Tetanus
D. Non-restricted access to water sources

Choose the correct answer from the options given below:

MUCT Yderel & SRIol foratferRad 3 A oot 2t A8 amemea Rrwifel 3 ?

A. fo1ep AlSTel ¥RIc @I 3319 welt

B. digar Jerase - foriqur fegamasema

C. Reora @ fAsg ST BT Sl SIBIDBIUT

D. siet il ao foraier uga

il f3u s1e fyaseul 9 A W& 3= goi ¢

[Question ID = 655][Question Description = S2_qSNz_PG_SMC_Q47]

A and B only/dact A siiz B [Option ID = 2617]
B and C only/dsaet B siiz C [Option ID = 2618]
C and D only/dact C sfiz D [Option ID = 2619]
A and D only/d@aet A siiz D [Option ID = 2620]

AW N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 2617]

48) The preferred 'Aids’ used to educate single individual are
A. Photographs

B. Role playing

C. Chalk & board

D. Pen & paper

Choose the correct answer from the options given below:

uase Iftp ol If3a wol & YIb adil AsRIB AEEY 3 -

A. BIcEIG

B. sifdrpr fordaat

C. T 3 a5

D. Ua 3iiz duz

oA Ry s1e Riecdl # A & a2 goi ¢

[Question ID = 656][Question Description = S2_qSNz_PG_SMC_Q48]

1. Aand C only/ddct A 3iiz B [Option ID = 2621]
2. Aand D only/@aet A siiz D [Option ID = 2622]
3. B and C only/ddaa B siiz C [Option ID = 2623]
4. Band D only/a@ae B siiz D [Option ID = 2624]

Correct Answer :-
e Aand C only/d>act A 3iiz B [Option ID = 2621]

49) The nuclear scientist had an accidental exposure to radiation in a radio nuclear laboratory. 5 years after this event, he
was diagnosed as having leukaemia.

Identify the causal relationship between radiation and leukaemia for the above scenario.
A. Necessary

B. Not necessary

C. Sufficient

D. Not sufficient

Choose the correct answer from the options given below:

M0 uRav] YR I uay] dsifore uR fafdsur ot R gaa RErll ust 51 acel @ 5 ad a6 33 gu I DR (cgDIfdrn) @1 foreret
fope SR SuRfep uf¥eod J fafepzur siiz I B (cyhifdrm) & dia eRvnHD Jde &I usdare Hifsie

A. smaeam



B. smacue orél

C. gafa

D. vty orét

ofla fou s1e fyaseul 3 A I Fa= goi ¢

[Question ID = 657][Question Description = S2_qSNz_PG_SMC_Q49]

A and B only/@qet A siiz B [Option ID = 2625]
B and C only/dact B sfiz C [Option ID = 2626]
C and D only/dsaet C iz D [Option ID = 2627]
A and D only/dbaet A siiz D [Option ID = 2628]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 2625]

50) Health committees related to Malaria include

A. Mudaliar Committee

B. Madhok Committee

C. Kartar Singh Committee

D. Chadha Committee

Choose the correct answer from the options given below:

Jcityn & FHdfera rareea afifern 3 ?

A. gefersr afdifer

B. siehas Afdifer

C. ovar Ris afdfea

D. ager afifer

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 658][Question Description = S2_qSNz_PG_SMC_Q50]
1. Aand C only/ddet A iz C

[Option ID = 2629]
2. B and D only/daet B siiz D

[Option ID = 2630]
3. Cand D only/aaa C siiz D

[Option ID = 2631]
4. Aand D only/dae A siik D

[Option ID = 2632]

Correct Answer :-
e Aand Conly/dde Asiz C

[Option ID = 2629]

51) True statements for propaganda are:
A. Makes people think for themselves

B. Appeals to reason

C. Appeals to emotion

D. Aims at impulsive action

Choose the correct answer from the options given below:

YR @ aR 3 AT Dol 3 &

A. <livll @l ¥ @ fere Aol 3q Yia oo

B. ad5 @01 @I 3eRlel oIl

C. srdolt @ fere sreRler wol

D. smafdra wriarél @ 3Zea dlo

ofid fou o1 el 3 A A8t Sz gt ¢

[Question ID = 659][Question Description = S2_qSNz_PG_SMC_Q51]



A and B only/dbact A 3iiz B [Option ID = 2633]
B and C only/dqct B siiz C [Option ID = 2634]
C and D only/@saet C siiz D [Option ID = 2635]
A and D only/dact A siiz D [Option ID = 2636]

A W N -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 2633]

52) Core principles of 'Sustainable Development Goals' are
A. Policy

B. People

C. Partnership

D. Planet

Choose the correct answer from the options given below:

Adad faorRT agdl o1 g3 Rigia & ?

A. sfifer

B. eer

C. aserst

D. 3

il fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 660][Question Description = S2_qSNz_PG_SMC_Q52]

A, B and C only/a@act A, B sfiz C [Option ID = 2637]
B, C and D only/a@act B, C siiz D [Option ID = 2638]
A, C and D only/asaet A, C siiz D [Option ID = 2639]
A, B and D only/d@aa A, B sfiz D [Option ID = 2640]

A W N -

Correct Answer :-
® A, Band C only/aaer A, B 3iiz C [Option ID = 2637]

53) Probability distributions based on proportion are
A. Normal

B. Binomial

c.'t

D. Poisson

Choose the correct answer from the options given below:

IHATGIUIA UR 3MTenfya QiRpdr dcal 3 ©

A. e

B. fxug

c.'&

D. carsaer

i fou o1 freseul 3 21 & Fa= goi ¢

[Question ID = 661][Question Description = S2_qSNz_PG_SMC_Q53]

A and C only/@ae1 A siiz C [Option ID = 2641]
A and B only/dact A siiz B [Option ID = 2642]
B and C only/dqet B siiz C [Option ID = 2643]
B and D only/@aet B siiz D [Option ID = 2644]

A W N -

Correct Answer :-
e Aand C only/daet A siiz C [Option ID = 2641]

54) Which of the following are impact indicators?
A. HIV incidence rate

B. ART coverage

C. HIV prevalence rate

D. ART retention rate



Choose the correct answer from the options given below:

forgarfeiRaa 31 A1 dlat - A Ysa Jdad & ?

A. HIV sirarest g2

B. ART =nfiy

C. HIV =uwar &=

D. ART yferenzur o=

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 662][Question Description = S2_qSNz_PG_SMC_Q54]

A and B only/d@act A 3iiz B [Option ID = 2645]
A and C only/d@act A siiz C [Option ID = 2646]
C and D only/dsaet C siiz D [Option ID = 2647]
B and D only/dact B sfiz D [Option ID = 2648]

A WN -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 2645]

55) Which one of the following are the advantages of a self-administered questionnaire?
A. More validity due to improved understanding

B. More validity due to more privacy

C. More validity due to more completeness

D. More efficiency due to internet use

Choose the correct answer from the options given below:

forgaiferlRaa 3 2 lat - A ¥a - Porifea georach & cm1 3 ?

A. SR AT D TeId 3D ABASIAA

B. sif2ro forstar @ el Siferas aaeIaan

C. sifer yular @ @erd sifere aasstadan

D. geoic @ yRisT @ deld 3if2res cgran

il fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 663][Question Description = S2_qSNz_PG_SMC_Q55]

A and B only/dact A siiz B [Option ID = 2649]
B and C only/dact B sfiz C [Option ID = 2650]
B and D only/dsaet B siiz D [Option ID = 2651]
C and D only/aaet C sfiz D [Option ID = 2652]

A W N -

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 2649]

56) Which of the following statements are NOT correct regarding the growth and development of children in India?
A. Double the birth weight by the age of 7 months.

B. At least 500 gm weight gain per month till the age of 3 months.

C. Increase body length by 50% at the end of the second year.

D. Chest circumference overcomes the Head circumference by the age of 6-9 months.

Choose the correct answer from the options given below:

R 3 gl bt Agfs 3z Rt & ider 3 fowafiRaa 3 1 dlol A deet & ol
A. 7 airg 6 g AP STod D AR DI ISTol oI oIl B Sl 3

B. 3 36 &l 3RY Yrer 2ol ac gferers astel A @ A @aA 500 s &t giy

C. gt ad & sia ao ol & car$ # 50 yferera aw &t giy

D. 6 A1 9 sie &l 3R ad Il B ulfr Br b aff A siferes 31 sedl 3

il fou o1 fraseul 3 31 & Fa= goi ¢

[Question ID = 664][Question Description = S2_qSNz_PG_SMC_Q56]



A and C only/dbae A siiz C [Option ID = 2653]
B and D only/dqet B sfiz D [Option ID = 2654]
A, B and D only/d@saet A, B aiiz D [Option ID = 2655]
B, C and D only/a@act B, C siiz D [Option ID = 2656]

A W N -

Correct Answer :-
e Aand C only/aaa A siiz C [Option ID = 2653]

57) Correct statements regarding the vasectomy method of family planning are:

A. Can be performed in a PHC under local anaesthesia.

B. Most common cause of failure is spontaneous recanalization.

C. Following vasectomy, sperm production and hormone output are not affected.

D. Post-vasectomy, the person is advised to use an alternate family planning method till 20 ejaculations.

Choose the correct answer from the options given below:

uf¥ar forilstel & orRIEd) fafer @ ar 3 forafaRaa 3 A Bia A douc 8 3

A. I8 oRIEE] clibel WolrfiRRIT S2 greIfdes FarRed dog UR &I S Al &

B. s3> fawet Slol @I A4ifcs AT PRUI Iad: HHATEIOl 3

C. orRIESt & a1g I@IV] Fotal 31 awifel foraerol &l yfdpam goygenfar ol didl &

D. sR1EE @ arc caftd 1 20 ar dkiurd 3ol & W dd doifeud ulkar forilser & s & st 3
offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 665][Question Description = S2_qSNz_PG_SMC_Q57]

A and D only/@act A siiz D [Option ID = 2657]
A and C only/@ac A siiz C [Option ID = 2658]
B and C only/dbaet B siiz C [Option ID = 2659]
B and D only/dact B sfiz D [Option ID = 2660]

A W N -

Correct Answer :-
® A and D only/daea A siiz D [Option ID = 2657]

58) Which of the following statements are correct regarding the Basal Body Temperature (BBT) method of family planning?
A. Based on the rise of BBT at the time of menstruation.

B. The rise of temperature is very small (0.3-1.5°C).

C. The preferred time of measuring temperature is before going to bed for sleep at night.

D. It is reliable if intercourse is restricted to the post ovulatory infertile period.

Choose the correct answer from the options given below:

qfe guf foriisial & snenfre 9l amee (§ & &) ughl & el 3 frafiRaa weEil i ®lal 3 W&
A. wSitersf @ e @ @ & D ggor uR snenfa

B. aruairer 3 gfg sge enst (0.3 - 0.5° C) axit 3

C. Am3rel Y AT DT IR AR Ad A A R Aa B e et A usd ot 3

D. s freasreila 3 Afe swsicarst & a1g @ Siotol 3181 ®Icl 3 el yferdiena ar

il fou o1 fraseul 3 31 & 3a= goi ¢

[Question ID = 666][Question Description = S2_qSNz_PG_SMC_Q58]

A and B only/aaet A siiz B [Option ID = 2661]
A and C only/a@ac A siiz C [Option ID = 2662]
B and D only/dsaet B siiz D [Option ID = 2663]
B and C only/@aet B siiz C [Option ID = 2664]

A W N -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 2661]

59) Which of the following vital signs are to be checked while measuring the APGAR score in a newborn baby?
A. Respiration

B. Time of crying after birth

C. Reflex response

D. Muscle tone



Choose the correct answer from the options given below:

S ofasird fr9f 3 € di Sl u3lR IR @I ATUI Sl & dl forFoifeiRaa wmiol A dsvayvl Riesl &l st v star 3 ?
A. azre1

B. Stoat @ IwRid s @ Aol DI A

C. yftraet srqgfepam

D. iz voft wifer (3r1et Ao1)

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 667][Question Description = S2_qSNz_PG_SMC_Q59]

. A, Band C only/dact A, B siiz C [Option ID = 2665]
. B, Cand D only/daer B, C iz D [Option ID = 2666]
. A, B and D only/dact A, B siiz D [Option ID = 2667]
. A, Cand D only/aaet A, C siiz D [Option ID = 2668]

A WN -

Correct Answer :-
e A, Band C only/aae A, B iz C [Option ID = 2665]

60) Maternity and Newborn services provided by hospitals under "Baby-Friendly Hospital Initiatives" are:
A. Show mothers how to breastfeed.

B. Help mothers to initiate breastfeeding within 4 hours of normal delivery.

C. Practice Rooming-in, 24 hours a day.

D. Facilitate immediate and uninterrupted skin to skin contact.

Choose the correct answer from the options given below:

"fO19] e 3ueTer bl user "' @ siasia yoa gapfer i srasia forgy A fremsii 3 onfdrer 3 :
A. Siotoll I et urel & faf?r gerfenr

B. smene gRIfer & 4 #@e @ sfiar el Urel 3% B! I STololl bl ASRIAT Boll

C. fot 3 24 =e "#f3i01 3o’ DI 3ATA

D. dacwret iz forafer caan A caan Fuel & Ffdaen yeror woel

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 668][Question Description = S2_qSNz_PG_SMC_Q60]

. A and B only/a@aet A siiz B [Option ID = 2669]
. A and C only/aae A siiz C [Option ID = 2670]
. A, Band C only/dqe A, B siiz C [Option ID = 2671]
. A, Cand D only/a@aet A, C siz D [Option ID = 2672]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 2669]

61) ESI Scheme covers eligible workers employed in

A. Defence

B. Mines

C. Hotels and restaurants

D. Private educational institutions

Choose the correct answer from the options given below:

$ v airé Astonr A BrsetfciRaa A orRI ool ard urg o1 onfirc 3 :

A. g

B. et

C. 3ca 3R W

D. forsil digifdte Jverret

il 3w o1 fyaseul 9 A W& 3= goi ¢

[Question ID = 669][Question Description = S2_qSNz_PG_SMC_Q61]



1. A and B only/d>aet A siiz B

[Option ID = 2673]
2. Cand D only/@qa C 3ik D

[Option ID = 2674]
3. Band C only/@aer B siiz C

[Option ID = 2675]
4. Aand C only/@act A siiz C

[Option ID = 2676]

Correct Answer :-
® A and B only/dact A siz B

[Option ID = 2673]

62) Which of the following statements are TRUE regarding centchroman?
A. Developed by Central Drug Research Laboratory, Lucknow.

B. It is taken twice a week.

C. Does not contain any steroidal hormones.

D. Available under the trade name of "TODAY".

Choose the correct answer from the options given below:

forgatferRaa 3 3 Blat - A DecT eIt D A A A=A T ¢

A. D 3iuer el GAPIINE, TiR¥el® SRI famlRia

B. 33 wamE & 31 AR forn Sirar 3

C. 53931 oIF ¥3is3 Bilel ofdl Blen 3

D. "g3" aruif¥e ofrer A IucTeer

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 670][Question Description = S2_qSNz_PG_SMC_Q62]

A and B only/@aet A siiz B [Option ID = 2677]
A and C only/@aa A siiz C [Option ID = 2678]
B and C only/dqet B siiz C [Option ID = 2679]
B and D only/@aet B siiz D [Option ID = 2680]

A W N -

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 2677]

63) Limiting amino acids in maize are
A. Lysine

B. Tryptophan

C. Threonine

D. Niacin

Choose the correct answer from the options given below:

Fad i Aa aqr A ure stror arar ¥ - 3pd &

A. asRet

B. RRridsar

C. Rpiforor

D. fornBrer

il f3u a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 671][Question Description = S2_qSNz_PG_SMC_Q63]

A and B only/dact A siiz B [Option ID = 2681]
B and C only/dsaet B siiz C [Option ID = 2682]
C and D only/daet C sfiiz D [Option ID = 2683]
A and D only/a@act A siiz D [Option ID = 2684]

A w N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 2681]



64) Which of the following are the advantages of Secondary Data analysis?
A. Provides control over the data.

B. Can be used in combination with primary data to increase validity.

C. Useful in studying effectiveness and utilization of intervention.

D. More resource-intensive.

Choose the correct answer from the options given below:

forgatferRaa 3 3 dla foeiiae smens AERf frayvr (AP sTer voresRRT) & ont 3 ?

A. D SRI eR AERY (SeT) R ORIGUI Ygre {5 ST 3

B. 331 SWRIST qeIdT dGTol 3q Yrefdie e AnRf (Ysasdl sier) & Al 3 e siar 3
C. I EFALU D PUIFAAT delT IURNST BT 3ERIT Dol 3 IURILH idr 3

D. w15 3ifern FHArerol ALK BT 3

ofi fou o1 el 3 A A8t Sz gl ¢

[Question ID = 672][Question Description = S2_qSNz_PG_SMC_Q64]

A and B only/d>qet A siiz B [Option ID = 2685]
B and C only/@aet B siiz C [Option ID = 2686]
C and D only/daet C siiz D [Option ID = 2687]
A and C only/@act A siiz C [Option ID = 2688]

A W N -

Correct Answer :-
e Aand B only/@aet A 3iiz B [Option ID = 2685]

65) 'APGAR Score' is a type of:
A. Qualitative data

B. Quantitative data

C. Ordinal scale

D. Ratio scale

Choose the correct answer from the options given below:

© dl Sft € 3R FDR fpA®DT v Yo 3 -

A. spiicH® <

B. uf¥amvincas ca

C. BaRIae Aol

D. sropura amueit

oA R a1e Riescdl # A & a2 o

[Question ID = 673][Question Description = S2_qSNz_PG_SMC_Q65]

1. Aand C only/ddet A 3iiz C [Option ID = 2689]
2. Aand D only/dsaet A siiz D [Option ID = 2690]
3. Band C only/d@act B sfiz C [Option ID = 2691]
4. Band D only/aae B siiz D [Option ID = 2692]

Correct Answer :-
e Aand C only/a>aet A aiiz C [Option ID = 2689]

66) Match List | with List Il

List | List Il

Age group Occular Manifestation

A. Under fives I. Senile cataract

B. School going Il. Diabetic retinopathy

C. Middle age 11l. Refractive error

D. Elderly IV. Retinopathy of prematurity

Choose the correct answer from the options given below:

et -1 ot 3l -1l A IR Bifde
forcht -1 et -1l




(crRIaof) (X, - 2Hdeh sifdrcafep)

A. ufe ad A offla |. SR Alfern fiog

B. fdremcrr siror arct Il. sreprs ddel Ieaitieh

C. sz lll. sraade qfe

D. g IV. sraraRicoar &bl Iesiitel

il fou o1 fseul 3 I A8 IR gfom ©

[Question ID = 674][Question Description = S2_qSNz_PG_SMC_Q66]
. A-W,B-1,C-LV,D-l[Option ID = 2693]

. A-LV,B- U, C-1,D-L[Option ID = 2694]

1
2

3. A-1,B-1l,C- Ll D-lV [Option ID = 2695]
4. A-1,B-U,C-LV,D-l[Option ID = 2696]

Correct Answer :-
e A-I,B-1,C-LV,D-L[Option ID = 2693]

67) Match List | with List Il

List | List Il

Diseases Incubation Period
A. Pneumonic Plague |I. 10-14 days

B. Hepatitis B Il. 21-42 days

C. Typhoid Fever lll. 30-180 days
D. Tuberculosis IV. 1-3 days

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - | et -1l
RIsT Sgdol i (f&a1)
A. sggiiforas et 1. 10 - 14 a1
B. 3ucrsfea Il. 21 - 42 &1
C. JfisaR (cswiss) gHR 1l. 30 - 180 ot
D. grRRYT IV. 1-3Ra

il fou s1e frseul 3 3 A IR gfor ©

[Question ID = 675][Question Description = S2_qSNz_PG_SMC_Q67]
1. A-,B-I,C-U,D-lv

[Option ID = 2697]
2. A-1,B-U,C-1V,D-l

[Option ID = 2698]
3. A-UW,B-1V,C-1,D-l

[Option ID = 2699]
4. A-WV,B-UL, C-1,D-ll

[Option ID = 2700]
Correct Answer :-
e A-|,B-I,C-UL,D-vV

[Option ID = 2697]

68) Match List | with List Il

List | List Il

A. Advanced model of the |I. Related to carriers and asymptomatic
triangle of epidemiology cases

Il. All predisposing factors for condition

B.Web of causation X X
visualised

Ill. Causative factors and ecological

C. Iceberg phenomenon . . L.
elements with population characteristics

D. Natural history of the

; IV. Studied in a cohort design
disease

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

forcht -1 Farcht I




A. FHBIAR fdsirer o feegst

ot |. areonl 3iir cagdlor awrctl A Hdfera

Il. Refer @ 9t ydedielt wrol b weustt bl sl

B. ®RrRI®wRUI @1 St N

lll. SrorRizsn bt faroraarsii & eI - A1 Yuneia

. oic1 uf¥ercolr
C. fead pR® ik wki¥efs aca

D. o1 w1 gropferes sfasra IV, aservr sifdtascy 3 srerIel fdoan sRn

off<l feu are fpedl 3 A A8 3R gfore :

[Question ID = 676][Question Description = S2_qSNz_PG_SMC_Q68]
1. A-,B-U,C-Ul,D-lV

[Option ID = 2701]
2. A-1,B-1,C-1v,D-lll

[Option ID = 2702]
3. A-UW,B-1L,C-,D-V

[Option ID = 2703]
4. A-LV,B-L,C-U,D-U

[Option ID = 2704]
Correct Answer :-
e A-,B-U,C-l,D-lV
[Option ID = 2701]

69) Match List | with List Il

List | List Il

A. Cocaine I. Mood elevation and elation

B. Amphetamine Il. Excitement and hallucination

C. Cannabis lll. Development of a dreamy state

D. Lysergic acid diethylamide [IV. Altered structuring of perception
Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgaifera Hifsre ¢

xet -1 Rxeht -1

A. DIdeT |. #AGIGON BT IooRIol, IccIlA
B. Yywcniier Il. Serston sii sAferpr

C. sifor (Bafx) I1. afterer srazen o1 RwRT
D. ferifSi SRTS SEsARICIAES IV. afer b1 af¥afefa sizaon agar

ofla fou o1 frseul 3 3 A IR gforw ©
[Question ID = 677][Question Description = S2_qSNz_PG_SMC_Q69]

A-1,B-1,C-LV, D -l [Option ID = 2705]
A-1l,B-1, C-LlL D -V [Option ID = 2706]
A-Ul,B-LV,C-1l,D-[Option ID = 2707]
A-1,B-1l, C-LlL D -V [Option ID = 2708]

A W N -

Correct Answer :-
e A-I,B-L,C-LlV,D-ll[Option ID = 2705]

70) Match List | with List Il

List |

List Il

Category of Biomedical Waste Disposal
bag/Container

Type of Waste

I. Syringes with fixed

A. Yellow eedles

B. Red Il. Metallic body implants
C. White lll. Intravenous tubes

D. Blue IV. Expired medicines

Choose the correct answer from the options given below:




&t -l @Y 3 -1l F gk Hifdwe ¢

Reht - et -1

(Sta Rifepefiz w1 foruerer et urg &t (e oo )

Qul)

A. et I. 3F g Al

B. crer Il. oRiz 3 &g 3IRIUYT

C. ag lll. 3roa: BRI orefl (STIIorRT CJe)
IV. siferayia siiaf2rRil (Ta=RTuRS

D. sfierr i <fior)

off<l feu o1u fpedl 3 A A8 3R gfore :

[Question ID = 678][Question Description = S2_qSNz_PG_SMC_Q70]
1. A-I,B-W,C-1V,D-l

[Option ID = 2709]
2. A-ULB-1,C-V,D-l

[Option ID = 2710]
3. A-IV,B-U, C-1,D-U

[Option ID = 2711]
4. A-L,B-1V,C-1,D-

[Option ID = 2712]
Correct Answer :-
e A-I,B-U,C-LlV,D-l

[Option ID = 2709]

71) Match List | with List Il

List | List Il

Vitamin Deficiency feature

A. Thiamine |. Megaloblastic anaemia
B. Riboflavin  [Il. Dermatitis

C. Niacin Ill. Angular stomatitis

D. Folate IV. Peripheral neuritis
Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

et -1 et -1

(Rrerf3ror) (¥t @ cigior)

A. emsafier |. deTIcilecni¥ca eforfdism
B. rsaucifaor Il. caarder (sedcsea)
C. formf3ror Ill. dogerz Ffdesfeat

D. wicic IV. af¥sza Rt

il 3w o1 el 3 A At I gfom :
[Question ID = 679][Question Description = S2_qSNz_PG_SMC_Q71]

A-lL, B-1V,C-1,D-ll[Option ID = 2713]
A-1V,B- U, C- L, D-l[Option ID = 2714]
A-1,B- U, C- 1V, D -l [Option ID = 2715]
A-U,B-L, C-LV,D -l [Option ID = 2716]

AW N =

Correct Answer :-
e A-I,B-LV,C-L,D-lL[Option ID = 2713]

72) Match List | with List Il

List | List Il

Type of mosquito Disease transmitted in India
A. Anopheles I. Japanese encephalitis

B. Culex 1l. Malayan filariasis

C. Aedes Ill. Malaria

D. Mansonoides [IV. Chickungunya

Choose the correct answer from the options given below:



&t -l @Y 3 -1l F FAfra Hifdw ¢

oxet -1 et -1l

(312 T YBR) ) (st o gmifea 1)
A. Soliftbferst |. Smureft #If¥asa ofter
B. axydaa Il. s1erR wredfrnfnT
C. ofzx 1. srcifem

D. dorleiiafsaa IV. fRrsorerorn

ofid fRu o1 fweal & A 7E IR gfore :

[Question ID = 680][Question Description = S2_qSNz_PG_SMC_Q72]

A-1V,B-L,C-1ll,D-1l
A-U,B-LV,C-|,D-1U
A-U,B-L,C-LV,D-l

A W N -

Correct Answer :-

A-1,B-1V,C-L, D-lU [Option ID = 2717]

[Option ID = 2718]
[Option ID = 2719]
[Option ID = 2720]

e A-I,B-1lV,C-L, D-l[Option ID = 2717]

73) Match List | with List Il

List | List Il

Type of /Approximate Penetrating Ability (highest range) for
Radiation Tissue

A A.lpha I. 30 cm

particles

B. Beta particles |Il. 0.05 mm

C. Gamma IIl. 4 mm

particles

D. X-rays IV. 50 cm

Choose the correct answer from the options given below:

It -1 ot gt -1l 2 gifera difsre ¢

oreht -l il

(fafep=u1 @1 ypR) (foorape Atret I (STadad ufRrR))
A. 3ICWHBT DUT 1. 30 it

B. eier oot 1. 0.05 f3reit

C. 3131 Ut 1. 4 Gt

D. gq -3 IV. 50 2iait

ofid R s1e feal & A 78 IR g :

[Question ID = 681][Question Description = S2_qSNz_PG_SMC_Q73]

1. A-L,B-U,C-l,D-1IV

[Option ID = 2721]
2. A-ILB-W,C-,D-V

[Option ID = 2722]
3. A-UWL,B-1,C-1V,D-1

[Option ID = 2723]
4. A-IL,B-W,C-LV,D-1

[Option ID = 2724]
Correct Answer :-
e A-|,B-U,C-l,D-IV

[Option ID = 2721]

74) Match List | with List Il

List |

List Il

A. Incidence Rate

I. Disease burden in the community

B. Prevalence Rate

Il. Disease risk estimation

C. Case Fatality Rate

lll. Speed of the spread of disease in the community|

D. Relative Risk

IV. Killing power of the infectious agent




Choose the correct answer from the options given below:

et -1 1 e -1l A @ i

et -1 Rret -1l

A. 3irECel G2 |. A13gcr 3 eI oI dist

B. gaetot 52 1. et SHiRaar siraeret

C. Al gy 2 Ill. J3GRI 3 A81 D AR & arfer
D. wmaer shifiaa IV. Figae woig & ARG 9Ikp

ofla 3w o1 el 3 A At I gfom :

[Question ID = 682][Question Description = S2_qSNz_PG_SMC_Q74]
. A-1,B-1ll, C-ll, D-lV [Option ID = 2725]

. A-1,B-1,C-1l,D-LV[Option ID = 2726]

1
2

3. A-U,B-1,C-1,D-LV[Option ID = 2727]
4. A-1V,B-lL, C-1,D - [Option ID = 2728]

Correct Answer :-
e A-L,B-Il,C-L,D-LV[Option ID = 2725]

75) Match List | with List Il

List | List Il

IA. UNDP I. Control of hookworm in India

Il. Strengthening natural and human
resources

B. World Bank

C. Cooperative for
lAmerican Relief
Everywhere

Ill. Raising the standard of living of
population in developing countries

IV. Mid-Day Meal Scheme for primary

D. Rockefeller Foundation school children

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

et -1 et -1l
A. I gor St Ui |. s1er 31 sipor - i3 (gapast) o1 forRIgUT
B. Rsa dm Il. grpfere siiz arera JArerol @l FSTgedl
YcTol Woll

C. oifufea wiz sEif¥ma fecllw |lll. Rraprorofiar Sor 3 SR @ Shlad ¥R
ol o3 3 AR DIl

- . IV. greférer faener @ sl @ fore seas
D. fpdbeRr BRI

off<l feu oru fpedl 3 A 3 3R gfore :

[Question ID = 683][Question Description = S2_qSNz_PG_SMC_Q75]
1. A-,B-lI,C-U,D-LV

[Option ID = 2729]
2. A-1,B-W,C-LV,D-1

[Option ID = 2730]
3. A-UL,B-V,C-,D-1l

[Option ID = 2731]
4. A-LV,B-L,C-1l,D-1l

[Option ID = 2732]

Correct Answer :-
e A-,B-I,C-U,D-1LV

[Option ID = 2729]

76) Chronologically arrange actions taken for investigation of an epidemic (from first to last) :
A. Preparing a spot map of the cases

B. Clinical examination of a sample of cases



C. Developing an epidemiological case sheet
D. Relate the disease to environmental factors
Choose the correct answer from the options given below

TP HEHRI DI STia @ fo1e IoRI 318 BcH DI DICTRATRIR *Idferd Hifsre (gemer A snladl awm)

A. ABRI & U Sirel arel FeITel BT ATGIfI TRIR Bl
B. ABRIl @& o1egor @I oiciierd Tsleivr wol

C. sftefiridifsaa it - uq o dotrern

D. et @1 gfazvilRkn wR®I A A« At

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 684][Question Description = S2_qSNz_PG_SMC_Q76]
1. A,B,C,D

[Option ID = 2733]
2. AD,B,C

[Option ID = 2734]
3. B,C,A, D

[Option ID = 2735]
4. C,A,B,D

[Option ID = 2736]

Correct Answer :-
e AB,C,D

[Option ID = 2733]

77) Arrange the following in chronological order from the oldest to most recent.
A. International Year of Children

B. International Year of Women

C. International Year of Older Persons

D. International Year of Disabled Persons

Choose the correct answer from the options given below

foratferRaa @1 yrfioraan snegforaad @ wreras 3 =raf¥erda Hifsm :

A. sicrearsdier arer ad

B. sicrearcéter aifdem ad

C. sicrearediar gg cafs ad

D. sicreersdar Riasetior cafip ad

o R a1 Rivedl 3 A w18 s gat

[Question ID = 685][Question Description = S2_qSNz_PG_SMC_Q77]
1. A,B,C,D

[Option ID = 2737]
2. B,A,D,C

[Option ID = 2738]
3.C,B,D, A

[Option ID = 2739]
4. D,B,C, A

[Option ID = 2740]

Correct Answer :-
e A/B,C,D

[Option ID = 2737]

78) Arrange the following legislations chronologically from the oldest to most recent
A. Air (Prevention and Control of Pollution) Act
B. Water (Prevention and Control of Pollution) Act

C. Environment Protection Act



D. Prevention of Food Adulteration Act
Choose the correct answer from the options given below

forgatferRaa freneil @1 grefioiast A aidficias wrerpdeRIR craf¥ed Hifsm :

A. arg (Yguul @ A AR foriqun) siftrformr

B. Ste1 (gguvul @ A 3R foriqur) siferformr

C. uafazur Jzervr sifdiformr

D. arer srufdrepur forarur sififoriar

ofi o o1 el 3 A A8t Sz gt ¢

[Question ID = 686][Question Description = S2_qSNz_PG_SMC_Q78]
1. C,A,B,D

[Option ID = 2741]
2. C,D,B,A

[Option ID = 2742]
3. B,C,D, A

[Option ID = 2743]
4. D,B,A,C

[Option ID = 2744]

Correct Answer :-
e C,A B, D

[Option ID = 2741]

79) Arrange the following legislations chronologically from the oldest to most recent.
A. MTP Act

B. Child Marriage Restraint Act

C. Birth and Death Registration Act

D. Immoral Traffic Act

Choose the correct answer from the options given below
forgatferRaa faeneil @1 grefiorast 21 snefforardas @ Picrad i crafied Hifse :
A. Ta & i siftrforan

B. are1 foars sraRler siferforen

C. Soat 3R g AISEIDdT ifeiform

D. smifers <marR ifrforer

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 687][Question Description = S2_qSNz_PG_SMC_Q79]
1. A,C,B,D

[Option ID = 2745]
2. B,D,C, A

[Option ID = 2746]
3. C,B,D, A

[Option ID = 2747]
4. D,B,C, A

[Option ID = 2748]

Correct Answer :-
e AC,B,D

[Option ID = 2745]

80) Arrange the following legislations chronologically from the oldest to most recent.
A. Indian Public Health Standards for PHC/subcentre

B. Indian Public Health Standards for CHCs

C. Epidemic Diseases Act

D. Quarantine Act



Choose the correct answer from the options given below

forgatferRaa freneil @1 grefioiast A aIdicias BIeIpaeRIR cIaf¥ed Hifsm

A. Ot ga 3l / Suddeg & fw s Adsifors Far-en Aeid
B. 3l va Mt & fere yurdia adsifore Farea Antd

C. seEst Ao1 Siferfora

D. JeRierel (Fardler) if2formr

ofid fou a1 el 3 1 A8t ST gl ¢

[Question ID = 688][Question Description = S2_qSNz_PG_SMC_Q80]
1. C,D, A, B

[Option ID = 2749]
2. C,D,B,A

[Option ID = 2750]
3.D,C,A B

[Option ID = 2751]
4.D,C, B, A

[Option ID = 2752]

Correct Answer :-
e C,D,A, B

[Option ID = 2749]

81) Arrange the following programmes in chronological order from the oldest to most recent
A. Janani Shishu Suraksha Karyakram

B. Rashtriya Bal Swasthya Karyakram

C. Janani Suraksha Yojana

D. India Newborn Action Plan

Choose the correct answer from the options given below

forgatferRaa Arsretisii 1 grfioiast A oIdiclad BIAGAHIGRIR caf¥yerd HifSe :

A. Sotofl 1919 e PRIGH

B. Isl=r aret Farrea orRigH

C. Siotoll I8 ASToll

D. s1Ra orasiia @R Alsion (30 val T i)
il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 689][Question Description = S2_qSNz_PG_SMC_Q81]
1. A,D,C, B

[Option ID = 2753]
2. C,A,B,D

[Option ID = 2754]
3. B,C,A,D

[Option ID = 2755]
4.D,C, A B

[Option ID = 2756]

Correct Answer :-
e A/DC,B

[Option ID = 2753]

82) Arrange given health indicators in sequence in framework,
‘Input -> Output -> Outcome -> Impact’.

A. Maternal mortality rate

B. Hospital bed density

C. Postpartum care coverage

D. Service utilisation



Choose the correct answer from the options given below

‘3P1d - forra - uftvmar & i ¥ PrcIfiiRad Fared ABAd! B agEg D3 :
A. AP R

B. fiftpearcrr ferar "otea

C. YRrara? SEIel oafiy

D. 3ar &t SuAfrar

il fou o1 fyeseul 3 21 & 3= goi ¢

[Question ID = 690][Question Description = S2_qSNz_PG_SMC_Q82]

B, C, D [Option ID = 2757]
C, B, A [Option ID = 2758]
, D, C, A [Option ID = 2759]
A, D, B [Option ID = 2760]

AW N -

i

Correct Answer :-
e A, B, C, D [Option ID = 2757]

83) Arrange the following legislations chronologically from the oldest to most recent
A. ESI Act

B. Indian Factories Act

C. Indian Mines Act

D. Workmen's Compensation Act

Choose the correct answer from the options given below

forraiferRaa farencil @1 grelioraa A snegformasn @ wramd d saaierd Bt :
A. € va ané siférforas

B. sireiiz oorzmen siffrformr

C. urdita s siférforer

D. @R "yfers:’ siftrformer

ofla fou o1 fyaseul 3 21 & Fa= goi ¢

[Question ID = 691][Question Description = S2_qSNz_PG_SMC_Q83]

A, C, B, D [Option ID = 2761]
B, D, A, C [Option ID = 2762]
C, B, D, A [Option ID = 2763]
D, B, C, A [Option ID = 2764]

A W N -

Correct Answer :-
e A, C, B, D [Option ID = 2761]

84) Arrange the following chronologically on the basis of the year of formulation from the oldest to most recent
A. National Population Policy(l)

B. National Health Policy(l)

C. National Nutrition Policy

D. National Policy for Empowerment of Women

Choose the correct answer from the options given below

forgaifeiRaa & foratfor ad & zfee A Faffire yreflor 21 siftrdaer @ e i craf¥ea Hifse :
A. IR Storizen ofifer (1)

B. IR Farred siifer (1)

C. IR UNRR siifer

D. sy aifgen Aorftbasur ofifer

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 692][Question Description = S2_qSNz_PG_SMC_Q84]

1. A, B, C, D [Option ID = 2765]



2. B, A, D, C [Option ID = 2766]
3. C, D, B, A [Option ID = 2767]
4. D, C, A, B [Option ID = 2768]

3]

Eg)

Correct Answer :-
e A B, C, D[Option ID = 2765]

85) Arrange the following legislations chronologically from the oldest to most recent
A. Coalmines Labour Welfare Act

B. Indian Mines Act

C. Indian Factories Act

D. ESI Act

Choose the correct answer from the options given below

forgatferRaa freneil @1 grfiorasr 2 snefforaast @ drerad i crafyeda Hifse :
A. PRIc 6l 93 DcrvT ifdiforan

B. sicfizr w@rer sifeiforrar

C. Rl orwEmen ififorpr

D. ¢ v and siferforrar

il 3w a1 fraseul 9 A W& 3= goi ¢

[Question ID = 693][Question Description = S2_qSNz_PG_SMC_Q85]

B, C, D [Option ID = 2769]
A, D, C [Option ID = 2770]
, A, D, B [Option ID = 2771]
B, A, C [Option ID = 2772]

A w N =

)

Correct Answer :-
e A, B, C, D [Option ID = 2769]

86) Given below are two statements:
Statement I: 'Health for all' is described as a revolutionary approach.
Statement Il: Primary Health Care is described as a revolutionary concept.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 Dot Ru sme 3 :

Dord - | ;' et D e rareda’ @1 gifaerl eftemivl & Bu i afvfa e srar 3
Derat - || : greIfire Faed S - el DI MRl aerRun @ U 3 aftia s siar
SWRITP Pl @ 3Mrelld #, ofld 3w s1u Rapedl 3 A AR IuYP IR DI ol HIRIT ©
[Question ID = 694][Question Description = S2_qSNz_PG_SMC_Q86]

Both Statement | and Statement Ll are correct/wermor | iz || Gloif A1dt & [Option ID = 2773]

Both Statement | and Statement Il are incorrect/wmemr | 3iiR |1 Glall sreta & [Option ID = 2774]

Statement L is correct but Statement Il is incorrect/@emt | 3@t 8, fboq et |l srera 8 [Option ID = 2775]
Statement L is incorrect but Statement Il is correct/@emt | steia & , fpoqg et | @ & [Option ID = 2776]

A wWw N -

Correct Answer :-
e Both Statement | and Statement [l are correct/meet | 3l |l glell 2@t & [Option ID = 2773]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The sex ratio in India has been adverse to women.
Reason R: Strong male child preference and female foeticide are highly prevalent in India.

In the light of the above statements, choose the correct answer from the options given below

ofid 31 werol R o 3 ;. uop sifdrerct (A) & wu 3 fiRaa 3 @ gar1 3ud @Rl (R) & »u 3 :
sfdreperet (A) : siRd 3 Riemoura af¥emsii & yferae a1 &

®RUI (R) : csd @ Sod &l yde 51 3R Dol YIBRI HRA 3 RAUD 3U A Yeelol 3
SWRIFP Pl @ 3Mrelld #, ofld 3w s1u Rrapedl 3 A AR IuYeP IR DI TRIol HIRPIT ©
[Question ID = 695][Question Description = S2_qSNz_PG_SMC_Q87]



Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 318t 3 3z (R), (A) &t & wrzn & [Option ID = 2777]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2t & weeg (R), (A) 6l et = oiéf & [Option ID = 2778]
Ais true but R is false/(A) 3t 8 woq (R) @t =l & [Option ID = 2779]

A is false but R is true/(A) 3t odt @ w3sq (R) 2t @ [Option ID = 2780]

A WN -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 3@t 2 siiz (R), (A) &t 3 =m=n & [Option ID = 2777]

88) Given below are two statements:
Statement I: Life expectancy at birth has continued to increase globally over the years.

Statement II: The increase has been more marked in developed regions of the world than in the less developed regions.
In light of the above statements, choose the most appropriate answer from the options given below

il ol @l fdu sre 3 ¢

el - | : R auf 3 dfad TR U= Siodl B IRI Sitdel Yo 3 cPnar gfy; &8 3

@ - || : f[ira & f[aoelRa giql 3 srera faoRia giqi &l e As gfly siféra Xl @I fBerd
SWRID Dol @ 3MIclid A, ofid f6u a1u famcdl 3 A AR IUYTD IR DI TIol HIfSIT ©
[Question ID = 696][Question Description = S2_qSNz_PG_SMC_Q88]

1. Both Statement | and Statement l are correct/aemr | 3iiz || reif 23t & [Option ID = 2781]

2. Both Statement | and Statement ll are incorrect/aerat | iz || Gleil siciad 8 [Option ID = 2782]

3. Statement L is correct but Statement Ll is incorrect/@ermr | 3@ 8 , fpoq were |l seta & [Option ID = 2783]
4. Statement l is incorrect but Statement Il is correct/@eret | steia @ , fipoqg ®eret |1 2@t & [Option ID = 2784]

Correct Answer :-
e Both Statement | and Statement Il are correct/wee | i || Slali 3t & [Option ID = 2781]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Undernourished children are more susceptible to lead.
Reason R: Their bodies absorb more lead because other nutrients are lacking.

In light of the above statements, choose the correct answer from the options given below

ofid A1 werot v a1 3 : U sifdrverct (A) & wu 3 filaa 3 a a1 sud orur (R) & »a 3 ¢
sifdreperet (A) : srcuaiftid el @ MR A R b 3ifers it Wl 3

@1 (R) : 3o oSz siferas fi sraeifd w3 & aRiifs siowr iy el &t aall Axcdt 3
SWRID DUl D 3Iclld 3, ikl f6u a1u fdaedl 3 A A IUYTD IR DI TRIol DI :
[Question ID = 697][Question Description = S2_qSNz_PG_SMC_Q89]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 3@t 2 3z (R), (A) &1 3 sareen 8 [Option ID = 2785]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@t & uzsq (R), (A) 6t & =men oidt 8 [Option ID = 2786]
3. Ais true but R is false/(A) 3 2 wog (R) 3&t aidt & [Option ID = 2787]

4. Ais false but R is true/(A) 3@l oidt & weoq (R) 2@t 8 [Option ID = 2788]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 2t &3z (R), (A) 6t 31 men 2 [Option ID = 2785]

90) Given below are two statements:

Statement I: Slow sand filtration is an old-fashioned, outdated method of water treatment that has been completely
superseded by rapid sand filtration.

Statement II: The physical, chemical and bacteriological quality of filtered water in a slow sand filter are not satisfactory.

In light of the above statements, choose the correct answer from the options given below

ofi <1 erer Ru sre 3 ¢

el - | @ afga arq forzicar ster 9lfigaur &t grrel faf?r 3 et Fere diq arg forzice 3@ gt aws o gor
el - | : sl arg forzica 3 forzifa siar &l siiftre, R 3k Sialftre spiadan Adyg ol aidl 3
SWRIRD DUl D 3HIclid 3, oill fGu a1e fdamedl 3 A A IUYTD IR DI WRIol DI :

[Question ID = 698][Question Description = S2_qSNz_PG_SMC_Q90]



Both Statement | and Statement Il are true/aerat | 3ii2 |l Gleil 3@t & [Option ID = 2789]

Both Statement | and Satement | are false/@erer | 3fiz || Gloil strere 3 [Option ID = 2790]

Statement | is true but Statement [l is false/@emr | 311 & , fpog et |l sri—r & | [Option ID = 2791]
Statement | is false but Statement Ll is true/@ermr | sRIT 8 , fboqg et Il 3= & [Option ID = 2792]

A W N -

Correct Answer :-
e Both Statement | and Statement ll are true/wmermt | 3 |l cloil 31t & [Option ID = 2789]

Topic:- SMCH_SHAAN_NOV21B

1) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forsaiferRaa srerior ol earorgdes ufgu siiz féu s1e geor @1 3= S :

31, udi=il I 3y 35 adl 3 3R d v dAcaddl s1id 3 36d 8 308 JSI 3 Dl & AT IS MR 311 RN U 3NN (ASHA) oriad! Iord a=
ugdl, I oI ool ferI 3k JgHcfmT 3q T DI Urd D AT T T3S TR o Fearss ol grerfiias rare ag (divaeil) dsnsrn s dk
39N of 9t A olciferd USlgvT (3RSIEY) b Faarss ol 0@ @2 Ul wa Al of 3l st & o el yfepzmsil 3 Ul fada=t &t suferfer urs
315 JrIem of f¥Ulé &bt gerem et @i €t 3iiz 31l @ Yeitrol @ fore 3od divarfl A fCar 336l ufyar @ 3o Al @I faf¥icel FSIIcAD IURIT DI
eI {3 siiz AN PRI GART B0l D feru Bleonors AHMfdia dcacIforil (3Mséus) HSA BAF 3ol 3A TR 3 3R USRI & =i 3 36
FarreadiIRil b AsRIAr A TR @ 3ic? srafdrse - fHsoa e

Which one of the following vectors is most probably involved in this disease transmission?
forgatferRaa 3 A1 Pl - AT ABMAIBD 3 AT D QAR 3 3Mferp v Aldafera 3?7

[Question ID = 699][Question Description = S2_qSNz_PG_SMC_Q91]
1. An. fluviatilis/ o1 ugfernfeferst
[Option ID = 2793]
2. An. sundaicus/do1. JsEBA
[Option ID = 2794]
3. An. culicifacies/ %ot agfifmisr

[Option ID = 2795]
4. An. Philippinensis/va1. fbfeiftoifo=t

[Option ID = 2796]

Correct Answer :-
® An. fluviatilis/%el. ugfdrnfefera
[Option ID = 2793]

2) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forsaiferRaea srerior ol earolgdes ufgu 3z f&u a1w yeosr @1 3= difSe :

31, udi=il I 3y 35 gl 8 3R d v dAcaddl s1id 3 36 8 306 JSI 3l Dl D AT I R 31 RN U NN (ASHA) oriad! Iord o=
ugdl, 3> oI olgen fern 3l JgHcimI 3 b Bl Urd D AU UD FalIsS AR b1 Felrss @l Yrafdd rared aog (diuasdl) s srn s dia
39N of 9t A olciford udlgvl (AREIE) e Faarss @l oA @2 Ul wa Al of 3ahl st & o el yfepzmsil 3 Ul fada=t &t suRerfer urs
315 armem of f¥ulé &bt gerem et @t €t 3iiz 3l @ Yeitrol @ e 3od divarfl A fCar 336l ufyar @ siea Al @I faf¥icel FgIcAD IURIT DI
Jera {1 siiz AN PRI GART B0l D feru Bleonors AMfia FacaeIforil (3MEéus) HSA BAF 3ol 3A TR 3 3R USRI & =i 3 36
FarreaaiIiil b AsRIAr A T7 @ 3ic srafdree - fHswa e

Which staining material is used for the slide in the given case?



fou 31q 3c1BUT 3 Biet A FoId usrel B1 YRileT s sirar 3?7

[Question ID = 700][Question Description = S2_qSNz_PG_SMC_Q92]
1. Hand E/easie s
[Option ID = 2797]
2. GIMSA/Bw=n
[Option ID = 2798]
3. JSB/Siuardt

[Option ID = 2799]
4. IN/Ss vor

[Option ID = 2800]

Correct Answer :-
e Hand E/vasizs
[Option ID = 2797]

3) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forgatferi¥aa srenor ol &aogde ufée sii féu 31w grst @1 3= e :

31, udi=dl i 3y 35 ol 3 3R d v Acaddl s1id 3 36 8 306 JSI 3R Dawmdl D AT I R 31 RN U NN (ASHA) oriad! Iord o=
ugdl, 3> oI oiggen fern siiz JgHcidimr 3 b Bl Urd B AU UD FalIsS AR b1 Felrss @I Yo rared dog (diwasdl) s srn s dia
31m9M of 91 gd olctfora udlerur (3RSIA) R reirss ol IRIA o2 Ul wa 2l of 3l st &l o1 Sl gfprmsil 3 di. frda=t &l suf¥erfer urd
315 armem of f¥ulé &bt geremm et @t €f 3iiz 31l @ Yeitlol @ 1w 3o¢ divarfl A fGar 336l ufyar @ sie Al @ fAf¥icel FgIcAD IURIT DI
eI {3 sl AN PRI GART B0l D feru Bleonors M dacaciforil (3MEéus) HA BAF 3ol 3A TR I AR USRI & @RI 3 36
FarreadiIkil b AsRIAr A Tr @ 3ic? srafdree - fHsoa foan

Which level of prevention is suggested by "use of insecticide treated nets(ITNs)by family members"?
"uf¥ar @ ISl SRI dlcolord A Fcachril (315 & wol) @I glel " Amera & fpa Far @I YR o 3?7

[Question ID = 701][Question Description = S2_qSNz_PG_SMC_Q93]
1. Primordial/yrfitm

[Option ID = 2801]
2. Primary/qreifdio

[Option ID = 2802]
3. Secondary/fgdRi

[Option ID = 2803]
4. Tertiary/qdkRim

[Option ID = 2804]

Correct Answer :-
® Primordial/yrfirms
[Option ID = 2801]

4) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forgatfcii¥ad srernor ol &Aogde ufeu 3 3w 31e gest @I 3w S :

31, udi=dl i 3y 35 ol 8 3R @ v Acaddl o1id 3 3 8 306 JSI 3R Dawmdl D AT I R 3N RN U M (ASHA) oriad! Iorad o=
ugdl, 3 oI olggen fern sz JgHcdimr 3q b Bl urd D AU UD Fellss AR b1 Felrss @I Yraafde rared dog (diwasdl) dsnsrn s dia
3mm9m of s g olcifordd Udgvl (ARSIAY) o Ielrss @I M =2 Ul wa 2l of I3l stie &bl 318 Sleil Yfepziaii 3 Ul fda=t & sufd-erfer arg



318 Jrmem of f¥ulé &bt Jyerem et @i €t 3iiz 3l @ Yeitlol @ forg 3od divardl A fear 3ol ufyar @ sioa Al @I fAf¥icel FEIcHAD IURIT DI
e &= 3z AN AR YRIPT Bl @ fere dHleonors AFArfra scaciioril (3n5éiuct) J3x B 3ol IA @R 3 3R USRI & =Rl 3 siea
FarreadiIl b TeRIAr A @R @ 3ic srafdree - s foar

Which principles of primary health care are followed in the diagnostic procedure of the given case?
A. Equitable distribution

B. Community participation

C. Intersectoral coordination

D. Appropriate technology

Choose the correct answer from the options given below:

fou a1q Ig1B3uT i Sicifore yfeprm 3 grefdres Farrew Sasiicl @ ol -A Rrgidl a1 yier alar 3 ?
A. sgfREa faaor

B. smIciRc srsiicrst

C. 3R - &Ifi IR

D. 3t gienfrht

ofid fou a1 el 3 A 8t ST gl ¢

[Question ID = 702][Question Description = S2_qSNz_PG_SMC_Q94]
1. Aand B only/dact A siiz B

[Option ID = 2805]
2. Band C only/d@act B siiz C

[Option ID = 2806]
3. Cand D only/a@aer C 3iiz D

[Option ID = 2807]
4. Aand D only/a@aet A sik D

[Option ID = 2808]
Correct Answer :-
e Aand B only/@act A sik B
[Option ID = 2805]

5) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forgotferfRan srerior @ earegde ufsu iz Y 3¢ yeor o1 3= e :

f3r. udi=ft &l sy 35 adl 3 siiv A v deadl o1 3 3B & 368 JII 3l Saasdl @ A1 At gER 31 SR T N (ASHA) oriadl Iord @2
ugdl, 3> oI olgoll fer 3l JYgAachimr g b Bl Uzd D ATA TD IS TAR foar Ferss @ greafdias Fared dg (diearil) dsmsrn s g
39 of st ga olcIford UgvT (ARSIA) o Ietrss @I AT o= Ul wa i of 33hI sIia &bl 31 Sleil Yfepzaii 3 Uil fda=t & sufd-efer urg
315 3mon of f¥ulé bl Jerelr At @l &1 3l 31l o Ydtol @ ferg 368 diwardl ot fdan 330l ul¥ar @ siowr Al @I fafiosl AgcAD SURIl @1
Je1a [ SiiR AN IR GBI Dol D feru Dleonord HAifeia Acacioril (3nsélus) H3A BAF 3ol 3A TR 3 3R uskI D @i 3 361
FAREABGIIRI B AGRIAT A TR D 3ic? srafdrse - fyswa e

Which of the following agents can be used for indoor residual spraying in the given case?

A. Malathion

B. Lindane

C. Abate

D. Deltamethrin

Choose the correct answer from the options given below:

fou sIu Sgarur & Tr @ 3ice srafdrse Hsmma @ e feifciRan 3 A wiol A wsic I YieT v st JAmar 3 ?

A. JcTIeRIer



B. feiset
C. gde

D. 3cer afdar
il feu aru fareseal 3 A A Ia= goi ¢

[Question ID = 703][Question Description = S2_qSNz_PG_SMC_Q95]
1. Aand B only/@act A siiz B

[Option ID = 2809]

2. Band C only/@ae C siiz E
[Option ID = 2810]

3. Cand D only/@qe C ik D

[Option ID = 2811]
4. Aand D only/ddet A 3iiz D

[Option ID = 2812]

Correct Answer :-
e A and B only/dbac A 3iiz B
[Option ID = 2809]

Topic:- SMCH_SHAAN_NOV21C

1) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

forraiferRaa srerior ol earolgdes ufgu 3iiz f&u s1w yror @1 3= difSe :

@I$ Afden 3rueil oI Adre forordl IR w9r: 18 Ims 3iiz 1 316 5 a1 3, B ATy Yrafdid Fared dg o8 3A Afden ol PiorIa off b a3t AHdame
@I fioel dior el 3 sod! gHR, Sie iR ol 2 urell 3irol, 31 @t quf et 31, IfRIR 3ik g 9k 3 g usol &t Ferr 3 2l SiRiar
G213l Jidre @l it Sl 3 ol fbog DI 316=1 Fc1gIvT fAerenet oidl e udlervr 3 urI sRI [ awdr gaa: efkesicr e Adyes as ol
i 31 93 B3I 37 AN ABY UR el RN 3R 961: 9l61: 9R1F @ forerc eI ad> Wel SR ds USISIvT @l UR Udl dcl b foraa g ade da
@ ARoArd 333 3 aférn ara e uR 81, ofldl, °dd oPT & ol UlgivT A udr dcn &b fguifde acar woifdecar uz il oe1 A9 eed 3
BIA drel 3 I Arfe oKdlsl ofdl fewars fRu <ol 31 21 fop=il off = @t i1 I aria am @I @1 oIl &2 3R o1 fbeq 3 of YRID a<d X
U R 3 Dact T AT Sol Dl stopfer &t off St Harer o1 33! IRy D 311U fererfirer v bl g1 Afda uar s sr e sifa & utard
321 atia @ oA w3 v AHTel Fefer urd o st sraf?r 3 a1a ad wos st amerctl b Ul ordl faredt

What is the most probable diagnosis?
sifeRisre forgrol @RI 3 &

[Question ID = 704][Question Description = S2_qSNz_PG_SMC_Q96]
1. Measles/zRrr

[Option ID = 2813]
2. German measles/sor et

[Option ID = 2814]
3. Chicken Pox/frpor diat

[Option ID = 2815]
4. Meningitis/dfowamster
[Option ID = 2816]

Correct Answer :-
o Measles/xwmr

[Option ID = 2813]

2) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.



Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

forgotferRaa srerior ol earegde ufgu iz 23U 310 yest @1 3w difSme ©

DI aAfden sruohl 31 JHdare! fSrerchl 3Ry aror: 18 a1 3iiz 1 a6 5 a1 3, @ wrer Yralies Faren dg o8 3A Afden & ProrIa off 6 a3t Farer
@I firsa dior 6l A soal gER, Sie iR ol A urell 3ir6l, 3ifza @1 quf are 31, AfPRIR ik g3 9Bk i aod usal &t 3w 3 =21 Slkia
G131 Adrol @l ot Sl 31 3 &l [bog DI 316=1 FHe1gIvT [ereret oidl e usiervr 3 UrI sRI b awdr Jgad: eftesikr ar Idyerd Aas ol
I8 31 93 33T 3R ACUI I8 UR el SR 3iIR 9ral: 9Tol: IR @ forarct sieT ad el SR Jfg URISIVT B0l U= Udl dctl &b foraer o3 ad® ga
@ ARioard 333 3 enfern ard e R BI, ofld, °dd oPT & ol UIgivT A udr g &b fguifde acar woifdear uz dicl oe1 A29T eed 3
B Farel d ®1E el orflst ol fars fRu Sieil 3 A =il oft g @ 3=t bt ardla aw B A o1l &1 kR en fooq #if o Y@ T Bt
U aR 3 Dact U AT Sol b siogafer & off gt Faret w1 AT IR D 319U eIl v &t g Afda Iuar e sr T Sifa & v
32l aTid @ A gl d v AATel [Fefer urd 318 521 srafr 3 a1 ad wos it aneretl b Ul ordl fareflt

The single most preferred age-appropriate vaccine for the younger child is
BIE drel @ fore Aaiferes if2EIen SRy - 3iofeu U A &t 3 -

[Question ID = 705][Question Description = S2_qSNz_PG_SMC_Q97]
1. MR (Measles - Rubella)/ua1. 3mR. (#isict - Fdet)

[Option ID = 2817]
2. BCG/dft. 2t it

[Option ID = 2818]
3. Pentavalent/terdcic

[Option ID = 2819]
4. IPV (Injectable Polio Vaccine)/sms i dt (sotacdet diferl daefier)

[Option ID = 2820]

Correct Answer :-
® MR (Measles - Rubella)/wa. 3. (sfisicat - Fdetn)
[Option ID = 2817]

3) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

forgetferRaa srerior @l earegde ufgu iz 3w 318 yest @1 I difSte ©

@I$ Afden el oI Adrel fSrordhl IR w9r: 18 s 3iiz 1 36 5 a1 3, B WY YAl Fared dg a8 3A Afdenr DI PivRIa off b a3 Hdrmer
@I fioel diar el 3 sed! gHER, Sie iR ol 2 urell 3irol, 31z @t quf et 31, IftRIR 3ik g 9ike 3 T usel &t Fer & 2l Sirer
G213l el @l it Sl 31 ol fbog DI s16=1 FHer1givn fAereret oidl e udlervr 3 urI oRI b awdr gaa: efkesicr e Idye as ol
i 31 9Re B3I 37 AU AB? UR Wl IR 3R 9I61: 9l6i: 9RIF @ forIc eI dd> Wel SR d6 USISIVT @3l UR UdI Tcl b forae g ade da
@ ARoArd 333 3 aiférn ara e uR 81, ofldl, °dd oPT & ol UIgivT A udr dcn &b fguifde acar woifdear uz il oe1 A29r eed 3
BIA Jdrel d B Arefe ordlsl ofél Rwars @u <lofl & A Rpedl o7t ac oot sira1 bl ariza am @I &A@t o1l o srn e fpoq it of YD o @t
U R 3 Dact T AT Sol Dl stoafer €t off ot Harer o1 b IRy D 311U frerfirer v bl g1 Afda Iuar s sk e sifa & utird
321 aTia @ A wedl 3 v AHTel Fefer urd 31 sl srafr 3 a1 ad wos st amerctl b Ul ordl fareft

The lesions revealed on oral examination are:

3s D udlgrur & uarq Yfdra faapferit 3 ¢

[Question ID = 706][Question Description = S2_qSNz_PG_SMC_Q98]
1. Herald's spot/a3cs @1 ersar

[Option ID = 2821]
2. Koplik's spot/ufera 1 ersar

[Option ID = 2822]
3. Rose spot/3st eear

[Option ID = 2823]
4. Bitot's spot/feec @I erear

[Option ID = 2824]



Correct Answer :-
e Herald's spot/a2cs @I trean

[Option ID = 2821]

4) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

forgotferRaa srerior ol earegde ufgu iz 3w s1e yest @1 3w difSte ©

oI AAfden sruohl 31 JHdaret fSrerchl 3Ry ayror: 18 a1 3iiz 1 a6 5 a1 3, & wrer Yralies Faren dg o8 3A Afden & ProrIa off 6 a3t Farer
@I fisa dior 6l A soal gER, Sie iR ol A urell 3im6l, 3ifza @1 quf dre 31, AfPRIR ik g 98k i awd usal &t wr=n 3 =i Sikia
G131 JAdrol @l i Sl 31 3l ol [bog DI 3161 FHe1gIvT [Aereret oidl e usiervr 3 UrI sRI b awdr Jgada: efkesikr a1 Idyerd Aas ol
i A 93 33T 3R ACURII AS2 UR Wl SR 31R 9lol: 9To1: IR @ forerel IPT dd> el SR 6 UIEIVT @l UR Ul el fib forerel gk adw ga
@ ARiorard 333 3 enfern ard e W BI, ofldl, *dd oPT & ol UIgivT A udr g &b fguifde acar weifdear uz il oe1 A29T &ed 3
B Farel d D1 el orefist ol fars fRu Sieil 3 A =il oft g @ 3=t bt ardla aw B A o1l &1 sk en fovoq #if o Y@ T ot
U aR 3 Dact U AT ol b siogafer & off gt Farer @1 AT R D 319U eIl v &t g Afda Iuar e SR T Sifa @ U
321 atid @ A gl d v AATel [Fefer urd 31 531 sraf?r 3 a1 ad wos it amerctl b Ul ordl fdreft

The disease in the village can be termed as:
a1ia 3 fareraret Ae1 @Y foifeiRaa 3 A fpadl e & o A@dl 3 :

[Question ID = 707][Question Description = S2_qSNz_PG_SMC_Q99]
1. Endemic/uvesfirp (Jermoflr dfiemst)
[Option ID = 2825]
2. Epidemic/cftSie (ewist)
[Option ID = 2826]
3. Pandemic/dsfm (dffam ss@t)

[Option ID = 2827]
4. Sporadic/¥uRfE® (weoraferm)

[Option ID = 2828]

Correct Answer :-
e Endemic/uvesfid (Femsilr diomst)
[Option ID = 2825]

5) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

forgotferRaa srerior @l earegde ufgu iz 3w 318 yest @1 I difSte ©

@I$ Afden el oI Adrel fSrordl IRy w9r: 18 s 3iiz 1 316 5 161 3, B WY YAl Fared dg a8 3A dAfden oI PioRIa off b a3 Hdrmer
@ fioel dior el 3 sew! gHER, Siw iR ol 2 urell airol, 31 @t quf et 31, IftrRIR 3k g 9ike 3 T usel &t er & 2l Sirer
G131 e @l it Sl 3 ol bog DI s16=1 FHergivn fAereret oidl e udlervr 3 urI sRI b awdr gaa: efkesikr e Idye as ol
iy 31 9Re B3I 37 AU AB? UR Wl IR 3R 9I61: 9l6i: 9RI? @ forIc HeT dd> Wel SR d6 USISIVT ol UR UdI Tcl b forae g ade da
@ ARoArd 333 3 aférn ard e uR 31, ofld, °dd oPT & ol UlgivT A udr g &b fguifde acar deifdear uz dicr oe1 A9 eed 3
BIA Jdrel # B Arefe ol ofél fRwars @u loff & A Rpedl o7t ac ot sira1 1 ariza am @I &A@t o1l o srn e fpoq it of YD o Bt
U R 3 Dact T AT Sol Dl srofer €t off ot Harer o1 33! IRy D 311U frerfirer v bl g1 Afda uar s sr e sifa & uar
321 atia @ A w3 v AHTel Fefer urd 51 sl srafr 3 a1a ad wos it amerctl b Ul ordl farefl

The required suggested dose of vitamin A for the older child:



Jcsera &t Jarel & fere freiBier v &t srféra afda wgere 3 :
[Question ID = 708][Question Description = S2_qSNz_PG_SMC_Q100]

1. Single/vw

[Option ID = 2829]
2. Two/ax

[Option ID = 2830]
3. Three/dar

[Option ID = 2831]
4. Four/ar

[Option ID = 2832]
Correct Answer :-
e Single/v®d

[Option ID = 2829]

Topic:- GP_Set8_A

1) The table below presents the unit slaes of the ZZ999" Motorcyle in six European Countries
over a =ix month period from January — 2020 to June 2020. These motorcycles are imported
into each country by a main dealer. Bazed on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | Mayv | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23

Total

What percentage (%) of the overall total was sold to the German importer?
(1) 22.0% (2) 25.4%
(3) 25.8% (4) 24.6%

FefeEn At S 2020 ® 59 2020 % i IE A% Fi w=@ ° 97 FE 59 gE ZZ999° "
TSRS i U TRl (FFT He) H gl 2 | A AeEnEtha el ge e (Sen) F g oo o o
S 1 e | FR § g S F SR W I F I A

) T | TEA | O | T | T 5 | FA

Sl | 34 | 47 | 45| 54 | 5660
g% | 40 | 44 | 36 | 47 | 47 |46
e 37 | 32 | 32| 32 |34 |33
dfesm | 14 | 14 | 14| 16 |17 |14

T 29 20 | 28| 31 | 2931
Gl 22 | 24 |24 | 26 | 25|23

1 22.0% 2 25.4%
3  25.8% 4 24.6%



[Question ID = 2639][Question Description = Q1_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]

Correct Answer :-
e 1 [Option ID = 10553]

2) The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motoreyeles are imported
into each country by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 H4 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23

Total

What percentage (%) of the overall total of motorcycles was sold in May?
(1) 24.1% (2) 25.6%
(3) 27.1% (4 17.8%

Frfefigs awel S 2020 9 99 2020 % 1 37 9% H @G °§ B8 e S gRl ZZ999 HiE
TTsihel i v TeEhl (g Het) w1 S9Nl B | 9 HrewEnsthe e g fashar (Sen) * R ueis oo A
AT =1 Tl 7| FE § g ARS $ AIYE 9 09 I G

"~ 4 C

] TRl | T | O | o7 | 7S | S | B

T | 34 | 47 | 45| 54 | 56|60
g% | 40 | 44 | 36 | 47 |47 |46
37 | 32 |32 | 32 | 34|33

14 | 14 | 14| 16 17|14
o= 29 | 29 | 28| 31 |29 |31
el | 22 | 24 | 24| 26 | 25|23
T

uE wTE H S TS el A7 1 Wiawd w6 A v

(1) 24.1% (2) 25.6%
(3) 27.1% (40 17.8%

[Question ID = 2640][Question Description = Q2_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10557]
2. 2 [Option ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

Correct Answer :-
e 1 [Option ID = 10557]

3) The table below presents the unit slaes of the “ZZ999 Motorcyle in six European Countries
over a =ix month period from January — 2020 to June 2020. These motorcycles are imported
into each country by a main dealer. Bazed on the data in the table. answer the question :

Country — wise Sale of Motorcyles



Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 G0
UK 40 44 36 47 47 46
France a7 32 a2 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Ttaly 22 24 24 26 25 23

Total

Which month showed the biggest increase in total sales from the previous month?
(1) February (2) March
(3) April (4 May

et JRol =ae 2020 d 59 2020 @ = BE 91E A 9 98 WA 59 g ZZ999° uiE

~ o - - iy T i . % £ . Gy ~ ~ A
TTsihel i v TeEhl (g Het) w1 S9Nl B | 9 HrewEnsthe e g fashar (Sen) * R ueis oo A
AT =1 Tl 7| FE § g ARS $ AIYE 9 09 I G

i
]
3
4
A
4
3

[*
[ahe]
Py
e

45 | 54 | 56| 60

IF | 40 | 44 | 36| 47 |47 |46
w| | 37 | 32 | 32| 32 34|33
sfesem | 14 | 14 | 14| 16 |17 |14

=i 29 20 | 28| 31 | 29|31
g2l 99 24 | 24| 26 |25 |23

o o= 1 Tl fractt 7w it fosfit i gom 1 waifys afg =i 27

1  wEh 2 ==

(3) = @ =

[Question ID = 2641][Question Description = Q3_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10561]
2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]

Correct Answer :-
e 1 [Option ID = 10561]

4) The table below presents the unit slaes of the ZZ999" Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motorcycles are imported
into each country by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 23
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Ttaly 22 24 24 26 25 23

Total

In the mfmt-h of February, what percentage (%) of the monthly total was sold to the biggest



importer:.

(1) 24.7% (2y 23.1%
(3) 36.5% (4) 51.1%

Fr=fefga aweft st 2020 ® SF 2020 7% i 3F 9= F mfﬂn‘j‘-”q’-‘.‘mcl‘!‘r'ﬁn?m ‘ZZ999" 7=
TrstR i T A (I I9) o 2| A gewEnted e g fme (3eR) F gm uers a

ST = ST 7| WAV § WA SRS % SER W T H 3 S

S | 34 | 47 | 45| 54 |56 |60
7% | 40 | 44 | 36 | 47 |47 |46
| 2 |82 3|8
14 | 14 | 14| 16 |17 |14
= | 29 | 20 | 28| 31 |29]31
seefl | 22 | 24 | 24| 26 | 25|23
el

Wi W A HEH 9% SAFEAFAT F Pl W HIZTETST e gfaerd = =y
1) 24.7% @) 23.1%
(3 36.5% (4) bH1.1%

[Question ID = 2642][Question Description = Q4_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566]
3. 3 [Option ID = 10567]
4. 4 [Option ID = 10568]

Correct Answer :-
e 1 [Option ID = 10565]

5) The table below presents the unit slaes of the “ZZ999 Motorcyle in six European Countries
over a =ix month period from January — 2020 to June 2020. These motorcycles are imported
into each countrv by a main dealer. Based on the data in the table. answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 G0
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 2 24 24 26 25 23

Total

What percentage (%) of the total imports is accounted for by the three smallest importers?
(1) 37.1% (2) 14.8%
(3) 40.0% (4 352%

fefeIiEga Aol SFat 2020 @ 99 2020 9% 1 9F 9IE 6 i 0 98 gk go g ‘ZZ999° At
TSThel %l T Tashl ﬁ?w}ﬂmﬁmmmmmuxm (o) =+ gF TeE 59 A
ST 1 ST 7| WA T WG $sT & SEW W 99 F 3 S

HHAT 34 47 | 45 | 54 | 56 | 60



40 44 | 36 | 47 | 47|46
37 32 | 32| 32 | 34|33

29 29 (28| 31 |29 |31
22 24 | 24| 26 | 25|23

TF
F=H
sSfesEm | 14 | 14 |14 | 16 |17 |14
p=e el
Eal
Ol

A HEE B AFEEEAA] gRI el AW F e Tiaer ST T A
(1) a7.1% (2) 14.8%
(3 40.0% @) 359%

[Question ID = 2643][Question Description = Q5_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

Correct Answer :-
e 1 [Option ID = 10569]

Topic:- GP_Set8_B

1)

What i1z the name for the type of checklist or rating scale that expresses criteria on some
point-scale to determine the guality of the performance of a student?

(1) Diffusion (2) Rubrics

(3) Track system (4) Deduction

v faamefi & o Fafe = fom ameevst w gma e g= @ i = o am 27

(1) o= (2) =hE=F
8y Iw-TEA 4 T

[Question ID = 2684][Question Description = Q06_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]
4. 4 [Option ID = 10736]

Correct Answer :-
e 1 [Option ID = 10733]

What is the name of the mental process that assists learners to reflect on their thinking by
internalizing, understanding, and recalling the contact to be learned?

(1) Meta cognition (2) Rubrics
(3 Peer tutoring (4) Debriefing

(1)  =uETA (2) =f=F
(3)  mHwa fmEm (4)  wfEm SR =

[Question ID = 2685][Question Description = Q07_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10737]
2. 2 [Option ID = 10738]
3. 3 [Option ID = 10739]
4. 4 [Option ID = 10740]

Correct Answer :-
e 1 [Option ID = 10737]

Given below are two statements :

Statement I: In free version of google meet (through your personal Gmail / Google account)



you can record your session / class.

Statement II: To join an online class / session conducted via Google Meet you need to login
to your Google account.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

Fi= 71 FoF faw o E

FA (I): P Wiz F 1 a9 0 (9 =g S O/ TR F OGRS A9 o9 e W
o 2 |

w9 (ID) : 7Tl Hi2 gHT Geleid U STelE B4 /T H SEEE FA 6 T A9 A9 P e 1§
T2 A ] e IS4 # |

IYITE HAA F AT 9, A 5 T eT 8§ HeE U S R =94 HiET
(1)  F IR I3 598 2 |

(2 F1 R I T F

(3)  F IHA 2, itk e IL7ed 2 |

(4)  Fo 17 2, S T [ TE 2

[Question ID = 2686][Question Description = Q08_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744]

Correct Answer :-
e 1 [Option ID = 10741]

Which of these decision traps pertain to personal qualities?

(A) Frame blindness
(B) Overconfidence

(C) Taking shortcuts
(D)  Being unsystematic

(E) Not keeping records

Choose the correct answer from the options given below :

(1) (A, (B). (C) only 2 (B).(C). (D) only

(3 (A, (0). (D) only 4) (C). (D). (E) only
fferfaa 4 & %= FoE-umm SfF 1on @ wete 37
A)  rg-fa=m
(B) -z

(C)  wfe aFrgem



(D)  w=matEsE 7
(B) o7 =8 wamn

= f3u T feErem 9 = wE 3 0 = i

(1) Fa9= (A), (B). (C) (2) Faw (B), (O), (D)
(3  F=d (A). (C). (D) (4) FA (C). (D). (E)

[Question ID = 2687][Question Description = Q09_GP_Set8_S1_Shift2]
1 [Option ID = 10745]
2 [Option ID = 10746]
3 [Option ID = 10747]
4 [Option ID = 10748]

AW N -

Correct Answer :-
e 1 [Option ID = 10745]

®) Match List I with List IT
LastI Laist IT
(A) Proprietary LMS @ MOODLE
(B) Open source LMS (I) Google classroom
(C) Cloud bazed LMS (ITT) Black board
(D) Data collection and quiz (IV) Google form

Choose the correct answer from the options given below :

1 (A)-IV), (B)-AID. (O)-D. (D)-(ID
(2)  (A-ID. (B)-IV), (C)-(IID), (D)D)
(3)  A-D. B)-ID. (C)-(IV). (D)-(II)
(4) (A, B)-D). (C)-(1D), (D)-(IV)

-1 % 9 g1-I1 1 faem ifaw

i1 I
(&) TRl T . @O AR (T5)
(B) S T UA.UH.TH, (D) T FAEER
(C) TFATSS SES UHA.UH.TH, (III) == =S
(D) =21 ThoH 3R s V) T FiH
Hr fo T ferwed § ® TR I = i

(1) (A)-IV), (B)-dID). (C)-D. (D)-ID
(2 @-I. B)-av). (C)-I1). D)@
3  @-O. B)-1AD. (O)-aV). (D)-AID
(4) (A, B)-@). (C)-aI), (D)-(IV)

[Question ID = 2688][Question Description = Q10_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752]

Correct Answer :-

e 1 [Option ID = 10749]

Scientific research has the ultimate goal of explaining any phenomenon by



(1) Conditional laws (Z) Laws of uniqueness

(3) Laws of intuition (4) Laws of generalisation

I WY e R 9T % S aaH F A @6, e o d w27

(1) o e (2) AfgdrEaT F e
(3) 3T: TS T EE (4) == F A

[Question ID = 2689][Question Description = Q11_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

Correct Answer :-
e 1 [Option ID = 10753]

7)  Which of the following are true case studies?
(A)  Easy to generalize the findings
{B) Normally Selects one case for analysis at a time
(C) Highly quantitative in character
(D) Integrates different perspectives

(E) Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2)  (B). (C). (D) only

(3 (B). (D). (E) only 4) (C). (D). (E) only

frefrfiam % & 7 ST % e 37

(A) WA T T AEE

(B)  HEIEA U GHA H UF THO 1 99 AT E |

(C)  Tamraan 6 3== gftwmr =@ |

(D)  fafm wfwe =1 gafea w2 |

(B) fafae =g #aipe sadi S97M i SF{HE i 2 |

= fau m faweat | & w6 3w = Fif
(1) & (A). (B). (C) 2 F= (B). (). (D)

(3) A« (B), (D), (E) @) A (C), (D), (E)

[Question ID = 2690][Question Description = Q12_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]



4. 4 [Option ID = 10760]

Correct Answer :-
e 1 [Option ID = 10757]

Identify the sequence of methodological steps in focus group research :
(A) Select a sample

(B) Prepare the focus group material

(C) Define the problem

(D) Decide the number of groups needed

(E) Prepare the mechanics of the study

Choose the correct answer from the options given below :
Ly (A (E). D). (C). (B) (2) (©. A, D). (E). B

3 (B (C). ). (D). (E) (4) (D). (A), (C). (B). (E)
TeRf-3d TR 4 T FHHg 700 I @ 1 TEEH =
&) i
(B)  HHfzd HYE IMEH W |
(C)  H9= =l T = |
(D)  EvIF THE HEAT A HUE H |
(B) =1 wome] oA |

4= fan o el 4 B 99 3 F == i

(1) (A (E). (D). (C). (B) 2) (O). A). D). (E). (B)

(3  (B).(0). (A). D). (E) 4 (D). A). (C). (B). (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762]
3. 3 [Option ID = 10763]
4. 4 [Option ID = 10764]

Correct Answer :-

e 1 [Option ID = 10761]

Given below are two statements :

Statement I: Social scientists belonging to the verstehen tradition do not accept the idea of

predicting human behavior in mechanistic terms.



Statement IT: It is asserted that the main aim of social science research 1s to promote

human understanding.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false
(4) Statement I 1s false but Statement II is true

o

= o1 2 fqu o B

FoF () 9 1id O Tesg SEs d36 F=am) 951 °§ 9Fd S99el Qe & f9an F =i

Fo (1) : =7 Fy=agd= Fa1 71 2 5 Amii=F &E 9y 3539 96 @ F Teatizd 54l 2 |

I FUE A |, A9 [ T EEed § 9 98 3 w0 999 i
(1) =#=FIAIGAEAE |

(2) w9 I 30 oA 56 2 |

(3) = [ & 7, it F2F I 318 2 |

(4)  F I HET 2, A T [LEE 2 |

[Question ID = 2692][Question Description = Q14_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]
3. 3 [Option ID = 10767]
4. 4 [Option ID = 10768]

Correct Answer :-
e 1 [Option ID = 10765]

19 Match List I with List II
List I List IT
Concept Description

(4) Isomorphism (). Use of both qualitative and
quantitative methods

(B) Triangulation (I) Premise that the simplest method is
most prefereable

(C) Principle of Parsimony (IIT) A property of a population

(D) Parameter (IV) Similarity of structure

Choose the correct answer from the options given below :

1) A-D. B)-dD. (C)-dID). (D)-AV)
(2)  (A-ID. (B)-ID, (C)-AV), (D)-[D
(3)  (A)-(ID. (B)-(IV), (O)-@). (D)-(AD)
4 A-IV), B)-@. (CO)-dD. (D)-AID



T=H-1 % Ty gAi-11 =7 faem Hifsw -

T I T
B) Ty () =Amaw =99 o ey g gaites =i 2
(C) Favm =1 g (IIT) ST =
(D) T=A (IV) &= i gaEar

= T2 U ool 8 ° wEl 39 1 59 Hiie

(1) (A)-(D). (B)-(I). (C)-(II). (D)-(IV)

(2) (A)-(ID), (B)-(ILL), (C)-(IV), (D)-(D)

(3) (&)-(11I), (B)-(IV), (C)-D). (D)-(1D)

(4) (A)-(IV), (B)-(@). (C)-(I). (D)-(I1T)
[Question ID = 2693][Question Description = Q15_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10769]
2. 2 [Option ID = 10770]

3. 3 [Option ID = 10771]
4. 4 [Option ID = 10772]

Correct Answer :-
e 1 [Option ID = 10769]

) Ina classroom, transforming verbal and non-verbal signs back into messages is known as
(1) Feedback (2) Encoding
(3) Decoding (4) Reverse communication

FET H W9 (F60T) Hehd 9°T SUIE (-6 ) Hehell H1 He9 § T HEeldl 2

(1)  wiagte (=) (2) = (sHITE)

(3)  Taeaa (T==iren) (4) Taadfta wuw (fed Fegieem)

[Question ID = 2694][Question Description = Q16_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774]
3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776]

Correct Answer :-
e 1 [Option ID = 10773]

Perspective taking in communication supports
(A) Behavioural rigidity

(B) Openness

(C) Sharing of information

(D)  Trust

(E) Secrecy

Choose the correct answer from the options given below :
(1)  (A). (B). and (C) only (2) (B). (C). and (D) only

(3)  (C). (D). and (E) only 4) (A). (C), and (E) only

FU9er | i gev fefanad 8 8@ e gEea w27



(A) =HEEETEE AT
(B) G

(C)  T= i1 ArFiEr

(D) Tava=
(E) T

= fau o famreal @ O HE 3 0 == i
() == (A). (B) 3 (C) (2) == (B). (C) 5% (D)

@ @ (©). D) ¥ (B) @) FE (A), (C) 31 (B)

[Question ID = 2695][Question Description = Q17_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]
3. 3 [Option ID = 10779]
4. 4 [Option ID = 10780]

Correct Answer :-
e 1 [Option ID = 10777]

13)
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  The positive feedback from the teacher is necessary to motivate students.
Reasons (R) : Continuous criticism of students is the best method to make them realize
positive outcomes in their pursuit of knowledge.
In the light of the above statements. choose the answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) is false
(4) (A) 1s false but (R) 1s true
41 =i Fo fou 7w # ; wF U (Assertion A) ¥ =9 # feifiad ® A1 580 35 FRO (Reason R) %
Eou e
ATTFLA (A) [18h © HEEIcAs diagie (Tistea Fiss) e = saiauiE e 6 o AHae
7 2 |
F (R) Tt = = aR A=A 3 TE B S5S1 § TN Uiong HOHEgE FE H
A =l 2
YT HUA % AT °, A= A T EEed § H Hal 3 F1 994 i,

(1) (A 3R (R)=F 721 & 31 (R). (A) F1 71 == 2 |



(2) (A) 3T (R) SH1 &ed & @it (R). (A) F1 T8 =3 4 2 |
(3) (A) 577 & @ (R) 27974 2 |
(4) (A) =973 2 S (R) 99 2l

[Question ID = 2696][Question Description = Q18_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]

Correct Answer :-
e 1 [Option ID = 10781]

1) The sequence of the stages of communication process is :

(A) Level of acceptance

(B) Transmission of congnitive data
(9] Message reception

(D)  Understanding

(E) Reaction

Choose the correct answer from the options given below :

(1) (A, (B).(C). (D). (E) (2 (B).(C). (D). (E), (A)

(3)  (C). (E). (D). (A). (B) 4) (B).(0), D). (A). (E)
T AT H S F AT B

(A)  wfamew (TFEem) #1 w

(B)  OSHIESE (FITATE) AR H=w

(C)  d=m wew (WO fraioum)

@) = (SSEST)

(B)  wfafem

1 fou v famei | 4 HE S 0 =9 i

(1) (A). (B). (C), (D). (E) (2) (B). (0). (D). (E). (A)

(3)  (©).(E). D), A). B @ (B). (O), D). (A). (E)

[Question ID = 2697][Question Description = Q19_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10785]
2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787]
4. 4 [Option ID = 10788]

Correct Answer :-



e 1 [Option ID = 10785]

Match List T with List IT
ListI List IT
Type of communication Characteristic feature
(A) Network communication () Formal and Planned
(B) Mass communication (I) Creates identity and unique dynamics
(C) Public communication (III) Inter — dependent relations
(D) Small group communication (IV) Anonymous audience

Choose the correct answer from the options given below :

(1) @-ID. (B)-IID. (O)-IV). (D)-(D
(2)  A-I). (B)-(IV). (C)-@). (D)-aD)
(3)  (A-IV). B)-D. (C)-(D). (D)-dII)
4 @-D. (B)-1D, (CO)-(IID). (D)-(IV)

=1 % T gH1-11 71 faem it

Gl T
&) F=EF TEw @ v qu qeEEg
(B) = "9 (418 FHa) AD == =T (wmEsfefz) @wn srfgdm wfeh
(g ST ) 1 AT 5 2 |
(C) @ =N (Ufec® FgiHTH) (D) ==t e (3= fedree feroma)
(D) = =YE T (IV) @@ AT (A Ao )

Hr T2 o R @ ® wE I = i

(1) A-1D. (B)-(ID). (C)-AV). (D)-(D
(2) (A1), (B)-(IV). (C)-(0). (D)-(ID)
(3)  A)-aV), B)-D. (C)-D). (D)-AID

(4) (A)-(I). (B)-(D). (C)-(I1L), (D)-IV)
[Question ID = 2698][Question Description = Q20_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]

3. 3 [Option ID = 10791]
4. 4 [Option ID = 10792]

Correct Answer :-

e 1 [Option ID = 10789]

Sagun purchased a smartphone at 9/10® of its selling price and sold it at 8% more than its
selling price. Her gain is

1 10% @ 12%
(3 18% 4 20%

T 7 UF W FH T 9 9o F 9/10d T W e 997 36 30 A gea | 8% wifaw w oA



1 10% 2 12%
(3) 18% @ 20%

[Question ID = 2699][Question Description = Q21_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]
3. 3 [Option ID = 10795]
4. 4 [Option ID = 10796]

Correct Answer :-
e 1 [Option ID = 10793]

'7) It CHARCOAL is coded as 45164913, how will you code COALCAR?
(1) 4913413 (9) 6194314
3) 3194416 (4) 4913416

afz = 9 7 CHARCOAL =1 45164913 formr =, a1 COALCAR =1 1 w=m for@n smom?

(1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
4. 4 [Option ID = 10800]

Correct Answer :-
e 1 [Option ID = 10797]

Looking at a photo of a man, Ravi said, ‘His mother 1s the wife of my Father’s son. I have no
brothers and sisters’,
At whose photo was Ravi looking?

(1) His Cousin (2) His Son
(3 His Uncle (4) His nephew
et wom & Wizl F wE T U9 4 FE, Cwwehl w W fom % oua i oueh 21 aw w9 @ e
T 217w R wie i T
(1) =1 == 9B/ (F9) (2) I
(38) = = (4) 9 W
[Question ID = 2701][Question Description = Q23_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]

3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]

Correct Answer :-
e 1 [Option ID = 10801]

Given below are two statements :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly.

then it 1s called compound interest.
Statement II : The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:



(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false

(4) Statement I is false but Statement II is true

= 3w ffw T E

FoE (I): = et sm@fa % fow = =0 @ =29 6 e oF 59 i S 2, 9 97 S Gwdig =

FEa # |

o (ID) : el oaartar o foru =mor &1 12 Ao smor &1 718 STl | ST wEerdl 7 |

IR FYA F ATAF H, = 20 0 e § 9 w9 39 #9697 Hia
(1) F9 IR 2 53 2 |

(2) A IR I 3A 59T 7 |

(3) = I9 7, e %9 [[ 89 2 |

(4)  F I me &, o wae a2 |

[Question ID = 2702][Question Description = Q24_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]
4. 4 [Option ID = 10808]

Correct Answer :-
e 1 [Option ID = 10805]

20) Match List I with List IT With respect to completion of sentences

TistI List IT
(A) The sum of first forty five natural (Iy 19
number 1s
(B) The least prime number is (I 75
(C) The total number of prime numbers (ITT) 1035

less than 70 1s

(D) On dividing 4150 by a certain number (V) 2
the quotient is 55 and the remainder
13 25. The divisor is

Choose the correct answer from the options given below :

(1) (A)-(IT). (B)-(III). (C)-(I), (D)-(IV)
(2) (A)-(TIT). (B)-(II). (C)-(IV). (D)-(T)
(3) (A)-(TIT). (B)-(TV), (C)-(T). (D)-(TT)
(4) (A)-(I). (B)-(IV). (C)-(IIT). (D)-(I)

-1 = = g1 =1 e i, 39 wr Fifw % T 50 & =



“HI-L

(A) T Jareiid TrFEfaE TEme e @ 19
(B) d=H T =g T 2 | I 75
(C) o ¥ B &g HEAIAT H Fel AT 7 | (D) 1035
(D) @wEE 4150 =i i g=m @ W 2 W aw 2

qFTEE 55 ST 99 25 BIA1 &, A 9 A

4= 23 T faweT 9 ® 9E 39 W 999 i

(1) (A)-(ID), (B)-(I1T), (C)-(D), (D)-(IV)

(2) (A)-(I1D), (B)~(IT), (C)-(IV), (D)-(D

(3) (A)-(I1D). (B)-(IV), (C)-I). (D)-(1I)

(4) (A)-(ID). (B)-(IV). (C)-(III). (D))
[Question ID = 2703][Question Description = Q25_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]

3. 3 [Option ID = 10811]
4. 4 [Option ID = 10812]

Correct Answer :-
e 1 [Option ID = 10809]

21
) Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A): The argument “Everything is nameable because it 1s knowlegable” is
fallacious.
Reasons (R) : There is nothing that is not nameable and I cannot find a place where,

because of the absence of the major term, the middle term is also absent.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct and (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

= 31 Foe fau T F : vF AfaFus (Assertion A) % =0 ° faf@a 2 a1 790 9% FA0 (Reason R) &

=7 H
srfirre (A) : T -7 A F AW A AHA & T TR 3 () 2w 2

2 ag i T 2

IHEI F99 F A 4, A9 A fawed 4 @ HeH 39T I F =591 i

1) (A I R) I T E A R), Q) F T = E
@ (AR R) 3 wE E AR R). (A) T 7 = 16 2

(3 (AN O 2 =rg (R o257 357 24



- b s . T -k e T W

@ (A =F T R Al ®) TR R

[Question ID = 2704][Question Description = Q26_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]
4. 4 [Option ID = 10816]

Correct Answer :-
e 1 [Option ID = 10813]

22) Given below are two statements :

Statement I: The terms ‘true’ and ‘false’ apply to arguments.
Statement IT: The terms ‘true’ and ‘false’ apply to statements.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement I 1s false

(4) Statement I i false but Statement I is true

21 FoA fam m E

Fu ([): @A SR TTeAd 9g a9 o & A |

FoA (ID) : Hel 3 T U5 FYA WA A E |

I FAT F A q, A9 150 0 fawedi 6 @ FE I H = i
(1) FFIAR DA 53 7 |

(2) Y IR I 2 8 7 |

(3) =v[ 14 2, oifed 5y 1L 91509 2 |

@ FEIIETE, S e AT 2

[Question ID = 2705][Question Description = Q27_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]

Correct Answer :-
e 1 [Option ID = 10817]

Given below are two statements :

Statement I: The fallacy of contradictory middle (viruddha) occurs in an argument when

the middle term is found both where the major is found and where it is not



found.

Statement II : The fallacy of contradictory middle (viruddha) is committed in an argument

when the middle term is found only where major term is absent.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

Fo (I): et % o fawg soary® @@ =1 2 v =q 0 A feufast 9 oFn S 2 - W9 '@ oua

Fu (II): TrEl o 4 fawg Fearam® a9 21 2 99 2d 0 9a1 aHl oF w8 915 9 |
YL U A H, A9 S 10 faheai 4 @ HE 3 F 99 R

1 FE IR O T3 3 |

(2) w1 3R I aE o 2 |

(8) wuH 1T 7, 9 %u9 [ a2 |

(4 F9e 1 5180 2, oo v L a9 7 |

[Question ID = 2706][Question Description = Q28_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10821]
2. 2 [Option ID = 10822]
3. 3 [Option ID = 10823]
4. 4 [Option ID = 10824]

Correct Answer :-
e 1 [Option ID = 10821]

24)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  For Naiyayikas. logic 1s not formalized and divorced from existence.
Reasons (R) : Naiyayika's interest in logic is for finding out the truth about the existent
world, but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct
4) (A) 1= not correct but (R) is correct

Fra =1 FoF 2o 0 2 vF AfaFUA (Assertion A) F =7 ¥ foifag 2 1 g0 3HF FEW (Reason R)
=0H

e (A) : FAITEF F FATEN, T ATHNSG FA 41 7 a91 q7 Alaed ¥ fafes= war 2 |



FE0 (R) : o | HAIEHT h F19 TH9HE 1999 =6 Tcd 1 947 o704 | &, 9 T Fded 396 A9 [0
ferm = |l =i e 1 |

S F49 F AT 4, A6 A0 0 faFedi § § gy I9gT I B 991 HIA -

1) (A) R R) 3 T F S (R). (A) F T = 2

@ (A) I (R)ZF T 2 SR R), (A) B wE = A 2
G (A= 2w R) W T 2

@) (&) A T R R R) TR

[Question ID = 2707][Question Description = Q29_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3. 3 [Option ID = 10827]
4. 4 [Option ID = 10828]

Correct Answer :-
e 1 [Option ID = 10825]

Socialized medicine is not recommended because it would result in reduction of the over all
guality of medical care. In addition, it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What is the conclusion in the above argument?

(1) Socialized medicine 1= not recommended.

(2) Soclalized medicine would result in reduction in the overall quality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

(4) There are overwhelming arguments against socialized medicine.

aaFa sty fi s FA A A 2 s s fatmen gE fi we e F s A | s
it 390 HHE Tohe o foatfon &1 S | 97 ol ity 1 g et 2 | S9EE a6 B o
e {%?

(1)  =EwfEHd ety i S T8 H A |

(2)  TmiEA sy o fafwen w= Fi wegt e § s Ee |

(3)  THTSEA AT H THE T T = S |

(4)  =EEA Wity % faeg wweE a g

[Question ID = 2708][Question Description = Q30_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]
3. 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

Correct Answer :-
e 1 [Option ID = 10829]

26)
With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
(3) RAM and Cache (4) Cache and ROM
FI T T | HEftad § ¥ 1 |9 GE Fa s ga 27
(1) 9 3R 9 Sid (2) =rE e s O
3) 19 R F (4) =5 AT

[Question ID = 2709][Question Description = Q31_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10833]
2. 2 [Option ID = 10834]
3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]

Correct Answer :-
e 1 [Option ID = 10833]

Identify the correct order of the following INTEL processors in the decreasing order of speed.



(A) 804836
(B) 8085
(C) Dual Core

(D)  Pentium - ITT

Choose the correct answer from the options given below :
1L (D). (©.B),A) 2 (©). D). ). (B)

(3 (0. D). (B). A) @  (B). (D). (). &)

FrefeiEa seet (HATE.0A.71.5.0. ) WHE T U2d BU Td & %9 § 81 %A ° faigd w9

(A) 30486

B) 8085
(© 3% #1

(D)  uf=m - I
= fou U fameat 1§ @ wE s 99 e

1 (D). (C). ([B). (&) 2y (C). D). (A). (B)
3 (O, (D). B). A) @ (B). D). (). &)

[Question ID = 2710][Question Description = Q32_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10837]
2. 2 [Option ID = 10838]
3. 3 [Option ID = 10839]
4. 4 [Option ID = 10840]

Correct Answer :-
e 1 [Option ID = 10837]

Given below are two statements :

Statement I: TUSB drives are also known as flash drives.

Statement II: Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit slips 1s known as MICR.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
() Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false
(4) Statement I is false but Statement II is true

i 7 oA T E
FoF ([):  J.UH.A. IET T IET F =9 0 off I 9

Fo (1) : = AR THI-U= & AGTHET B I FEET G F H=A: U F 0 S R TEE T
TR TS AW, FFT F FE] A E

IYCRF A = AR |, Jie 50 T e 8 8 w8 3 = i
(1) FEIsRIIATAE |
(2)  Fo L3R I 3M =@ 2 |
(3) w9 [ 43 2, ot wyH 11 51007 2 |
(4)  FuA I 370 2, wifed w99 L8 2 |
[Question ID = 2711][Question Description = Q33_GP_Set8_S1_Shift2]

1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]



3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844]

Correct Answer :-
e 1 [Option ID = 10841]

Which of the following are software?

(A)  Adobe

(B) Web browser
(©) Compiler

(D) Device Driver

Choose the correct statements from above :

(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (A). (C) and (D) only (4)  (A). (B) and (D) only

ffeafiga § 5 F1 drrea 27

A mEE

B) == EEW

(C) FITEeL

(D) T=amE 3E=

= T2u U REReT 0 W HE 3 SR =g i

(1) F=E (A). (B) # (C) (2) F=4 (B), (C) ik (D)
(3) F9 (A). (O) 37 (D) @ F99 (A, (B) #r (D)

[Question ID = 2712][Question Description = Q34_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10845]
2. 2 [Option ID = 10846]
3. 3 [Option ID = 10847]
4. 4 [Option ID = 10848]

Correct Answer :-
e 1 [Option ID = 10845]

30) " Match List T with List II
List I List IT
(Name of Company) (Founder)
(A) Apple Inc. (i) N.R. Narayana Murthy
(B) Microsoft Inc. (II) Steve Jobs
(C) Infosys Ltd. (III) Bill Gates
(D) Airtel (IV) Sunil Bharti Mittal

Choose the correct answer from the options given below :

(1)  A)-ID. B)-(IV), (C)-1D). (D)D)
@) A)-av), (B)-(ID). (C)-1I). (D)~
(3)  A-D. B)-IV), (CO)-1). (D)-(IIL)
@  A-AD. (B)-ID. (O)-@). (D)-AV)

T-1 = =y g1 =1 e i

T il
(A) TE . @) T W A
(B) wEHETTR . ) a FisE
(C) T mifm fafes 1) &= 723
(D) v (IV) Fie At e



o e B B, e S - i S e R b M M, Rt T TR L e R L e e, D R L o Bl Pt

(1) (A)-(11I), (B)-(IV), (C)-(II), (D)-(D)

(2 (A)-(IV), (B)-(I11), (C)-(D), (D)-(D

(3) (A)-(ID), (B)-(IV), (C)-(D), (D)-(I1D)

(4) (A)-(1D). (B)-(ILL), (C)-(I), (D)-(IV)
[Question ID = 2713][Question Description = Q35_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]

3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852]

Correct Answer :-
e 1 [Option ID = 10849]

According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels is to be reduced to the extent of

(1) 1/2 (Half) (2) 1/3 (One third)
(3) 1/4 (One fourth) (4) 1/10 (One tenth)

g faFm S3aa 1 ¥ UF F SEEE, ™I SR I9Eal T R 96 =t 3fvas smmEn-star w1 e
THRHT e T2 T

(1) 12 (zmm) 2) 13 (uw famr)
(3) /4 (v =iemg) 4) 110 (v =)

[Question ID = 2714][Question Description = Q36_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10853]
2. 2 [Option ID = 10854]
3. 3 [Option ID = 10855]
4. 4 [Option ID = 10856]

Correct Answer :-
e 1 [Option ID = 10853]

32) According to WHO standards. the pesticide content (Lindane or DDT) in drinking water
should not exceed

(1)  1pglt (2) 2pgLlt

(3)  5ugl (4) 10 pgL?
ava = e % SEn 1= W 1 Feaees Fioaen (e @ E ) T Wi T
(1) 1 pgl (2) 2 pgLt
(3 5 uglt (4) 10 pgLt

[Question ID = 2715][Question Description = Q37_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10857]
2. 2 [Option ID = 10858]
3. 3 [Option ID = 10859]
4. 4 [Option ID = 10860]

Correct Answer :-
e 1 [Option ID = 10857]

33) Whaich of the following Pollutants has the least residence time in atmosphere?
(1) Nitric Oxade (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane

= 4 = 8 T F1 9| § ey sufedt w2

(1)  ATsie® s (2) TEEE ST
(3) FATT AT —FTa (4) =

[Question ID = 2716][Question Description = Q38_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10861]



2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4. 4 [Option ID = 10864]

Correct Answer :-
e 1 [Option ID = 10861]

34 : ;
) Noize levels (db) are referenced to the human hearing threshold at a frequency of
(1) 50 Hz (2) 100 Hz
(3) 1 KHz (4) 4 KHz

8 AN W AR - A - S S g T (31A) W g e e w7

(1) o0 Hz (2) 100 Hz
(3) 1 Khz (4) 4 Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868]

Correct Answer :-
e 1 [Option ID = 10865]

35
) International Solar Alliance Framework Agreement entered into force in the year
1) 2015 @ 2017
(3) 2016 4 2018

(1) 2015 (2) 2017
(3) 2016 (4 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872]

Correct Answer :-
e 1 [Option ID = 10869]

In Banabhatta's Kadambri. good education has been described as having knowledge of 64
Kalaa or arts. Among these 64 Kalaa, Which among the following subjects were included

(1)  Only arts such as Singing and Painting

2) Only arts and vocational courses

(3) Arts, vocational courses and Medicine

(4) Arts, vocational courses, Engineering, Medicine, Mathematic, Science and Many
other subjects.

sz 1 FEed 6, I e w1 AR 64 Fenon W AW T kw9 A fen w2 3 64 Fenst H
frfefiga 9 & = afofea 97

(1)  =Faet T AN e S e

(2)  Tae SEEIE TEAEE A wA

(3) ey, SHEETEE TEAHH, A

(4) T, SHEETEE TEAEE, A=, AEiEse, TE-ue, e e wE a= e

[Question ID = 2719][Question Description = Q41_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10873]
2. 2 [Option ID = 10874]
3. 3 [Option ID = 10875]



4. 4 [Option ID = 10876]

Correct Answer :-
e 1 [Option ID = 10873]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Doing Inter — disciplinary research is more challenging than that in within
any single discipline.

Reasons (R) : It 1s not possible to combine knowledge from two disciplines.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

H= =1 w91 2o ™ £ : vF Af9F9E (Assertion A) F =9 | foffiaq 2 4 I 3T % FHE (Reason R) B

ﬁﬂ:"‘lq =l
=+ (R) 21 fa | I {1 S e T 2

I FUF F A 14, 79 Fw e e § 8 w9 I # == fia

(1) (A)#n (R) T4 F E 3 (R). A) F 9F = 2
(2 (A) =1 (R) 2 777 7 AR (R), (A) F1 o8 =men 75 2|
(3 (A== &« (R) 37574 7 |

4 (A) ¥H9F ® =T (R) 93 2|
[Question ID = 2720][Question Description = Q42_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
3. 3 [Option ID = 10879]
4. 4 [Option ID = 10880]

Correct Answer :-
e 1 [Option ID = 10877]

38 ; 3 : :
) Empirical studies have shown that the women students are under represented in the

disciplines such as science. technology, engineering, and mathematics (STEM). Its possible
reasons could be

(A) Women students do not feel comfortable with STEM subjects.

(B) Women students cannot excel in STEM subjects

(C) Woment students lack in aptitude in STEM subjects

(D) Women students face threats due to negative stereotypes.

(E) Women students are not encouraged by the parents to join STEM disciplines.

Choose the correct answer from the options given below :
(1)  (A). (C). (E) only (2) (B). (E) only

(3)  (C). (D) only (4) (D). (E) only

AFHIE el 3 guEn 2 R afren faenfe w0 famm, awdeh sfenfdn s e (og o)
5 fa9i 0 w1eq wfaiaed 7 | 3HS GrATad R0 A 5 5



(A)  afeen-fa=ndimo (va fi.sum.) o & @y gs S99 T8 w6 2 |

(B)  Afee-famnefimr (vm.f.3mm.) fAua § 558 uewE 96 # T E
(C)  afeen-fammffm =1 (vof1.2mm.) faeai o afisfa =1 a9 2

(D)  HfEe-fa=ndTo THEeHE Siesgal ® FRU GHEAT 1 A B F

(E)  afeen-fa=nedtmm =t 37 qm-foan & gm (v@ Ao, ) faw = o= % fom senfza =& fFn s
21

= fau o faed O F wE 39 w1 =9 Fie

(1) & (A). (C). (E) @) a4 (B). (E)

(3)  Fa (0). (D) @ = (D). (B)

[Question ID = 2721][Question Description = Q43_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]
3. 3 [Option ID = 10883]
4. 4 [Option ID = 10884]

Correct Answer :-
e 1 [Option ID = 10881]

Given below are two statements :

Statement I: A hoslistic and multi — disciplinary education aims to develop intellectual.

aesthetic, social. physical, emotional and moral capacities of students.
Statement IT: In 215t Century persons require only intellectual capacity to be successful.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4 Statement I is false but Statement II 1s true

# (I): T GEY AW g5-fawas-foen #1 2va e % aiigs, dteg-ueim, amtss oo,

#o (ID) : 21T wrameEl § =afFa=i #1 9% 51 = o0 e sifg® aqar S A=y =56l 7 |

ST YA F AR °, A B T el §  weE U 3 1 = i

(1) FEIARIIEA 73 |

oy e e L



A=y B L ERE el LB R e L L B S L S B T |
(3)  wua 1o 7, wid %97 11 37399 £ |
(4)  FF [ 2wt w99 Lo 21

[Question ID = 2722][Question Description = Q44_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3. 3 [Option ID = 10887]
4. 4 [Option ID = 10888]

Correct Answer :-
e 1 [Option ID = 10885]

Global Citizenship Education (GCED) aims at

(A) Making students to become members of U.N.O.

(B) Helping students to understand contemporary global challenges.
(C) Making students to become promoters of peaceful societies.

(D) Making students eligible to join foreign services.

(E) Making students eligible to become diplomats.

Choose the correct answer from the options given below :

(1)  (A). (B) only (2) (B). (C) only

(3) (C). (D) only 4 (D). (E)only
dfvas ArTienar B (STHSS) meETm R

(A)  Tanidar =i g.0A,377, 1 GgE o9 F U d=mw )

(B)  Tamnidar =t gramtEs dfvas St &1 a6z § e w0
(C)  Torenfed=m =1 anfegel TOTS 1 MCATEFal 79 F 70 =R FE|
(D) Taenfoli =1 2w saned 8 99 % G909 s

= fou o faepedl | © gE 3 w0 994 b

(1) ==« (A), (B) (2) == (B), (C)
(3) == (C), (D) (4) == (D). (E)

[Question ID = 2723][Question Description = Q45_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10889]
2. 2 [Option ID = 10890]
3. 3 [Option ID = 10891]
4. 4 [Option ID = 10892]

Correct Answer :-



e 1 [Option ID = 10889]

Topic:- GP_Set8_C

1)

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted. very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only 1f it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a goverming role,
endowed with public authority. who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is central to the theory of justice?

(1) Reasoning on a subject (2) Difficult interpretations

(3) Subjective engagement (4) Identification of an issue

=7 % fagm F1 avawa F1 Fay fFE v8 G & 96 8 96 F Sq9Ea F A6 B ¥ 56t B4 1 7
Tormer fama o = 90 faea o 9 9§ 9 Fe 95a s garn & | FE-wd T g e e
= 1 7% A e T wa o gkl TF A0 8 OF 2 TS Iuge gEET 6 me-y s

WA |99 7 | W B9 § G o0 Ui 291 SEE 2 | 39 o o, 99 29 9 2 6 Rl e s
=1 foufa § == 9w == F 96 6 AEEyEE ah-faash F S TH g e Ena |
TATE W A A UR S w w2 A gEe Famn G o ow, aw favm ww w A |\m o o=
fawar A FERuTeEE wE w wwd 9, UHT B T H e 1 | R =9 0 a9 we s T, aes

forelt TTedl = AFEA W T % e i 9UE "3 1 A E | S5 A, S % A A"
T A ST AU o e FI g § st S iR gam # | Tw fe-Tae Fewdl % gee e
S-S T B TR 7 AT = T GeAEA 9 ff 7 Tl 2 W g @) 9 = % 599 e
F1 TRER T fEgwalen O 9, 9w ae a9 =9 % WehE s 8 7 o ¢ | sfheE TEE £
R ° wAfv=m F1 fufa 9 2 s s s F osmaw fi aeEE w9 F T=gw 6 2 | =E F fagea
AETIHAT § <A 997 FE = 2 0 o H g =6l 2| g6t a9 @ fava & fafs aen 8 = #

Tay § forad arel SEH 4 9 G A H S e ayy e AR S R biigs s
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[Question ID = 2724][Question Description = Q46_GP_SET8_S1_Shift2]
1 [Option ID = 10893]
2 [Option ID = 10894]
3 [Option ID = 10895]
4 [Option ID = 10896]
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Correct Answer :-
e 1 [Option ID = 10893]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted. very difficult to speak. It is sometimes
claimed that justice 1s not a matter of reasoning at all; it i1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What 1s the simplistic view about justice?

(1) It is a matter of reasoning

(2) It i= being appropriately made aware of injustice
(3) It 1= of very little significance

(4) It is a matter of protest

=19 % fig 1 Savahdr #1 gug i vH 9 F 90 9 9% & F9E A6 w0 H GEiad 54 9 2

T faws o o 39 fo o 3 i T FE 95d FA 9qen 2| w-w 1w g e T 2
=T F T F A FAFS T FE WG TR 96 H UF 7 T I gEe F w-w S i
[E 99 71 | 9 =9 ° Wi & [0 WA 567 SEE 2 | 39 & e, S9 2e U 7 e oo sree
#1 fufa 7 =3 30 o=E F 90 4 s ah-faad w0 i omen s oy e Enes 7|
YT W15 A adi UF S 2 wehdl 2 4fg sue tHawer R o A, a9 f9ee sy g | oA s|
fama o AR R TR 9, UHT B F T 3w T | TRET 9 0 9% B9 3 T8, "ok
el THE % FETEA 8 S % HEE i G0F "ed i AT £ | T A, S e Aae A
T S ST T F OgeArERd i ge § s wfee o gam # | e fae-fam fee & g T
AT FF TF & Hd 7 AT =E T GeAEA 9 1 7 Fhal 7 W Hg =5 | I = % T6aad e
T URER ¥2 FERIEFAS O A5, SfF SEE a9 =" $ AAnE SEE § 2 O & | e TEE 2
aE A wHv=E A el 1 sy sl s % osnan i sedE w1 % mgw T8 8 | = H g i
ATFFN T A I A F feR i T fiyfm e 2 | dFs oo A fawa & fafim g 4 =3 &
ey 4 fomR T S 3 Fem e 39 ¥ = % e aht fem fi st wm e aifes smem

=19 % Tama ¥ vamediE foamm w2t
(1) == T ™ A R

(2) T ¥=E F 9% 4 TgfEd ®9 § TESA TH FAE

(3) 4= wgd ®H WYYl |
(4) == femy = fawg 2



[Question ID = 2725][Question Description = Q47_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898]
3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900]

Correct Answer :-
e 1 [Option ID = 10897]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted. very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only 1f it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a goverming role,
endowed with public authority. who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

In the case of a calamity, 1t should lead to a feeling of injustice when

(1) It 1s left unobserved

(2) It affects vulnerable people

(3) Concerned authorities did not make an attempt to prevent it
4 Concerned authorities did not know how to prevent it
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[Question ID = 2726][Question Description = Q48_GP_SET8_S1_Shift2]
1 [Option ID = 10901]
2 [Option ID = 10902]
3 [Option ID = 10903]
4 [Option ID = 10904]
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Correct Answer :-
e 1 [Option ID = 10901]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it 1s as eminent author Burke noted. very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all: it is one of being appropriately
sensitive and having the right note for injustice. It 1s easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented. and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority. who are unsure of the grounds for action. or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

Avoidance of reasoned justification can be sourced to
(1) Protectors seeking justice

(2) People unaffected by policy - decisions

(3) The public not interested in justice

(4) Public authority

Rt
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1 [Option ID = 10905]
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3 [Option ID = 10907]
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Correct Answer :-
e 1 [Option ID = 10905]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which it is as eminent author Burke noted. very difficult to speak. It is sometimes
claimed that justice 1s not a matter of reasoning at all; it 1s one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine. it seems natural to protest rather than
reason elaborately about justice and injustice. And vet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken
preventive action had failed to try. Reasoning in some form cannot but be involved in moving
from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
injustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of thelr policies. The requirements of a theory of justice include bringing
reason into play in the diagnosis of justice and injustice. Over hundreds of years. writers on
justice in different parts of the world have attempted to provide the intellectual basis for
moving from a general sense of injustice to particular reasoned diagnosis of injustice.

A particular diagnosis of injustice will lead to a theory of justice based on
(1) A general sense of the 1ssues
(2) Empirical analysis of injustice

(3) Intellectual evaluations

(4) Historical traditions
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[Question ID = 2728][Question Description = Q50_GP_SET8_S1_Shift2]
1. 1 [Option ID = 10909]
2. 2 [Option ID = 10910]
3. 3 [Option ID = 10911]
4. 4 [Option ID = 10912]

Correct Answer :-
e 1 [Option ID = 10909]





